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Section Id : 686340875
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Section type : Online
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Question Id : 68634044453 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension



Before the 1920s. film used to be silent with just the action on the scene along with subtitles. Come the decade
of 1920 and the advent of new technology. the filmmakers had the possibility to synchronise a soundtrack with
the action on the screen. This included dialogues. musical score and special effects. After this development.
the movies were called talkies since the audience was able to hear the actors talk with each other. There was no
stopping from then on and the next significant development was the introduction of colour. However. colour
movies were somewhat slow to catch on. especially when compared to the addition of sound to the movie.
Another reason for this slow acceptance of colour was the considerable developing and processing cost it
entailed. With passing of time. and improving technology. the colour processing became as affordable as
black-and-white films. More and more movies were filmed in colour to a point when the film makers did away
with black-and-white films.

Sub questions

Question Number : 1 Question Id : 68634044454 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Movies that had no sound were called movies

1. dumb
2. mute
3. muffled
4, silent

Options :

686340175601. 1

686340175602. 2

686340175603. 3
686340175604. 4

Question Number : 2 Question Id : 68634044455 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The acceptance of colour movies was a little slow compared to the

1. simileys

| B

. selfies
3. besties
4, talkies

Options :

686340175605. 1
686340175606. 2
686340175607 3
686340175608. 4



Question Number : 3 Question Id : 68634044456 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Colour movies were little slow on the uptake owing to their high and costs.

1. processing/ developing
2. reviewing/developing
3. filming / processing
4. filming/developing
Options :
6863401756009. 1
686340175610. 2

686340175611. 3
686340175612. 4

Question Number : 4 Question Id : 68634044457 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
The of the soundtrack to the action m the film revolutionized the process of film making.
1. stitching
2. synchronization
3. adhermng
4. business
Options :
686340175613. 1
686340175614. 2

686340175615. 3
686340175616. 4

Question Number : 5 Question Id : 68634044458 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
What 1s the main idea of the passage?
1. Film making is an easy job.
2. Advancement in technology has had a tremandous impact on film making
3. Silent movies and talkies were destined to become obsolete

4. Colour movies with a soundtrack are better than black-and-white movies with a soundtracl.

Options :



686340175617. 1
686340175618. 2
686340175619. 3
686340175620. 4

Question Id : 68634044453 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension

Before the 1920s. film used to be silent with just the action on the scene along with subtitles. Come the decade
of 1920 and the advent of new technology, the filmmakers had the possibility to synchronise a soundtrack with
the action on the screen. This included dialogues. musical score and special effects. After this development.
the movies were called talkies since the audience was able to hear the actors talk with each other. There was no
stopping from then on and the next significant development was the introduction of colour. However. colour
movies were somewhat slow to catch on. especially when compared to the addition of sound to the movie.
Another reason for this slow acceptance of colour was the considerable developing and processing cost it
entailed. With passing of time, and improving technology, the colour processing became as affordable as
black-and-white films. More and more movies were filmed in colour to a point when the film makers did away
with black-and-white films.

Sub questions

Question Number : 1 Question Id : 68634044454 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Movies that had no sound were called movies
1. dumb
2. mute
3. mufiled
4, silent

Options :

686340175601. 1
686340175602. 2
686340175603. 3
686340175604. 4

Question Number : 2 Question Id : 68634044455 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The acceptance of colour movies was a little slow compared to the

1. simileys

| B

. selfies
3. besties
4, talkies

Options :

686340175605. 1
686340175606. 2
686340175607 3
686340175608. 4

Question Number : 3 Question Id : 68634044456 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Colour movies were little slow on the uptake owing to their high and costs.

1. processing/ developing

| B

. reviewing/developing

Lad

. filming / processing
4. filming/developing

Options :

686340175609. 1
686340175610. 2
686340175611. 3
686340175612. 4

Question Number : 4 Question Id : 68634044457 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The of the soundtrack to the action in the film revolutionized the process of film making.

1. stitching

| B

. synchronization
3. adhering
4. business

Options :

686340175613. 1
686340175614. 2
686340175615. 3



686340175616. 4

Question Number : 5 Question Id : 68634044458 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

What 1s the main idea of the passage?

1. Film making is an easy job.

| B

. Advancement in technology has had a tremandous impact on film making
3. Silent movies and talkies were destined to become obsolete

4. Colour movies with a soundtrack are better than black-and-white movies with a soundtrack.

Options :

686340175617. 1
686340175618. 2
686340175619. 3
686340175620. 4

Question Id : 68634044453 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension

Before the 1920s. film used to be silent with just the action on the scene along with subtitles. Come the decade
of 1920 and the advent of new technology. the filmmakers had the possibility to synchronise a soundtrack with
the action on the screen. This included dialogues. musical score and special effects. After this development.
the movies were called talkies since the audience was able to hear the actors talk with each other. There was no
stopping from then on and the next significant development was the introduction of colour. However. colour
movies were somewhat slow to catch on. especially when compared to the addition of sound to the movie.
Another reason for this slow acceptance of colour was the considerable developing and processing cost it
entailed. With passing of time, and improving technology, the colour processing became as affordable as
black-and-white films. More and more movies were filmed in colour to a point when the film makers did away
with black-and-white films.

Sub questions

Question Number : 1 Question Id : 68634044454 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Movies that had no sound were called movies

1. dumb

2

. mute

3. muffled

4, silent



Options :

686340175601. 1
686340175602. 2
686340175603. 3
686340175604. 4

Question Number : 2 Question Id : 68634044455 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The acceptance of colour movies was a little slow compared to the

1. simileys
2. selfies
3. besties
4. talkies

Options :

686340175605. 1

686340175606. 2

686340175607. 3
686340175608. 4

Question Number : 3 Question Id : 68634044456 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Colour movies were little slow on the uptake owing to their high and costs.

1. processing/ developing
2. reviewing/developing
3. filming / processing

4. filming/developing

Options :

686340175609. 1
686340175610. 2
686340175611. 3
686340175612. 4

Question Number : 4 Question Id : 68634044457 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The of the soundtrack to the action in the film revolutionized the process of film making.

1. stitching

| B

. synchronization
3. adhering
4. business

Options :

686340175613. 1
686340175614. 2
686340175615. 3
686340175616. 4

Question Number : 5 Question Id : 68634044458 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

What 1s the main idea of the passage?

1. Film making is an easy job.

| B

. Advancement in technology has had a tremandous impact on film making
3. Silent movies and talkies were destined to become obsolete

4. Colour movies with a soundtrack are better than black-and-white movies with a soundtrack.

Options :

686340175617. 1
686340175618. 2
686340175619. 3
686340175620. 4

Sub-Section Number : 2
Sub-Section Id : 6863401452
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 68634044459 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the correct sequence of the four phrases given below to make a meaningful sentence.

A. the tangled oak treetops that you can barely see the sky
B. moss and lichen drip so thickly from

C. i the southwest of England

D. in Wistman's Wood i Dartmoor National Park

1LA.B.C.D

| )

.D.C,B.A
3.B.D.A.C
4.C.A.D.B

Options :

686340175621. 1
686340175622. 2
686340175623. 3
686340175624. 4

Question Number : 6 Question Id : 68634044459 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Choose the correct sequence of the four phrases given below to make a meaningtul sentence.

A. the tangled oak treetops that you can barely see the sky
B. moss and lichen drip so thickly from

C. in the southwest of England

D. in Wistman's Wood i Dartmoor National Park

1.A.B.C.D
2D B A
3.B.D.A.C
4.C.A.D.B

Options :

686340175621. 1
686340175622. 2
686340175623. 3
686340175624. 4

Question Number : 6 Question Id : 68634044459 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the correct sequence of the four phrases given below to make a meaningful sentence.

A. the tangled oak treetops that you can barely see the sky
B. moss and lichen drip so thickly from

C. i the southwest of England

D. in Wistman's Wood i Dartmoor National Park

1LA.B.C.D

| )

.D.C,B.A
3.B.D.A.C
4.C.A.D.B

Options :

686340175621. 1
686340175622. 2
686340175623. 3
686340175624. 4

Question Number : 7 Question Id : 68634044460 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is a one-word substitute for "the art of beautiful handwriting"?

—

. Epigraphy

2. Calligraphy

L]

. Cartography
4. Topography

Options :

686340175625. 1
686340175626. 2
686340175627. 3
686340175628. 4

Question Number : 7 Question Id : 68634044460 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following is a one-word substitute for "the art of beautiful handwriting"?

1. Epigraphy

| B

. Calligraphy

LIPS ]

. Cartography

=

. Topography

Options :

686340175625. 1
686340175626. 2
686340175627. 3
686340175628. 4

Question Number : 7 Question Id : 68634044460 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following is a one-word substitute for "the art of beautiful handwriting"?

1. Epigraphy

2. Calligraphy

LIPS ]

. Cartography

e

. Topography

Options :

686340175625. 1
686340175626. 2
686340175627. 3
686340175628. 4

Question Number : 8 Question Id : 68634044461 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following can be taken to be synonym for 'obstreperous'?

1. objectionable

[ ]

. sycophantic

L]

. disruptive
4. obsequious
Options :

686340175629. 1
686340175630. 2



686340175631. 3
686340175632. 4

Question Number : 8 Question Id : 68634044461 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following can be taken to be synonym for 'obstreperous'?

1. objectionable

[ ]

. sycophantic

LIPS ]

. disruptive
4. obsequious

Options :

686340175629. 1
686340175630. 2
686340175631. 3
686340175632. 4

Question Number : 8 Question Id : 68634044461 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following can be taken to be synonym for 'obstreperous'?

1. objectionable

[ ]

. sycophantic

L]

. disruptive
4. obsequious

Options :

686340175629. 1
686340175630. 2
686340175631. 3
686340175632. 4

Question Number : 9 Question Id : 68634044462 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the correct pair of prepositions to fill in the blanks of the following sentence:
She walked her friend the rally to support the workers.

1. beside. during

| )

. besides. beside
3. during, beside
4. with. on

Options :

686340175633. 1

686340175634. 2

686340175635. 3
686340175636. 4

Question Number : 9 Question Id : 68634044462 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Choose the correct pair of prepositions to fill in the blanks of the following sentence:
She walked her friend the rally to support the workers.
1. beside. during
2. besides. beside
3. during. beside

4. with. on

Options :

686340175633. 1
686340175634. 2
686340175635. 3
686340175636. 4

Question Number : 9 Question Id : 68634044462 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the correct pair of prepositions to fill in the blanks of the following sentence:
She walked her friend the rally to support the workers.

1. beside. during

| )

. besides. beside
3. during. beside
4, with. on

Options :

686340175633. 1
686340175634. 2
686340175635. 3
686340175636. 4

Question Number : 10 Question Id : 68634044463 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
Word Tyvpe of pronoun
A |what I freflexive
B. jmyself II. |relative
C. |his ITT. Jindefinite
D. [somewhere IV Jpossessive

Choose the most appropriate answer from the options given below:
1. A-IT. B-I. C-IV. D-III
2. A-I B-III, C-II, D-IV
3. A-IIL, B-1. C-IV. D-TI
4, A-IV, B-II, C-I, D-III

Options :

686340175637. 1
686340175638. 2
686340175639. 3
686340175640. 4

Question Number : 10 Question Id : 68634044463 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List II

LISTI LISTII
Word Tvpe of pronoun
A lwhat I jreflexive
B. lmyself II. kelative
C. |his II1. jindefinite
D_ [somewhere IV Jpossessive

Choose the most appropriate answer from the options given below:

1. A-II. B-L. C-IV, D-III

[ ]

AT BT C-II, DIV

L]

AT B-L C-IV, D-II
4. ATV, BII. C-I, DI

Options :

686340175637. 1
686340175638. 2
686340175639. 3
686340175640. 4

Question Number : 10 Question Id : 68634044463 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List II

LISTI LISTII
Word Type of pronoun
A lwhat I jreflexive
B. jmyself II. kelative
C. |his ITT. Jindefinite
D. [somewhere IV Jpossessive

Choose the most appropriate answer from the options given below:

1. A-II. B-I. C-IV. D-III

[ ]

AT BT C-II, DIV
3. A-IIT, B-I, C-IV, D-II
4. ATV, BII. C-I, DI

Options :

686340175637. 1
686340175638. 2
686340175639. 3
686340175640. 4



Question Number : 11 Question Id : 68634044464 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Find the average of first five multiples of 3 and first five multiples of 5.

1.20

(B

.16

4,22

Options :

686340175641. 1
686340175642 2
686340175643. 3
686340175644. 4

Question Number : 11 Question Id : 68634044464 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Find the average of first five multiples of 3 and first five multiples of 5.

1.20

b2

16

4, 22

Options :

686340175641. 1
686340175642. 2
686340175643. 3
686340175644. 4

Question Number : 11 Question Id : 68634044464 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Find the average of first five multiples of 3 and first five multiples of 5.

1.20

b2

16



Options :

686340175641. 1
686340175642. 2
686340175643. 3
686340175644. 4

Question Number : 12 Question Id : 68634044465 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Simplify

09-[23-32-(73-54-3.7)]

[ )
=

4,-2.6

Options :

686340175645. 1
686340175646. 2
686340175647. 3
686340175648. 4

Question Number : 12 Question Id : 68634044465 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Simplify

09-[23-32-(73-54-3.7)]

1.0.18

| )
=

4.-2.6

Options :

686340175645. 1
686340175646. 2
686340175647. 3
686340175648. 4

Question Number : 12 Question Id : 68634044465 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Simplify
e W W S WY

1.0.18

[ )
=

4.-2.6

Options :

686340175645. 1
686340175646. 2
686340175647. 3
686340175648. 4

Question Number : 13 Question Id : 68634044466 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Perimeter of a square 1s same as perimeter of a rectangle. If sides of rectangle are in the ratio 17:11. then find
the ratio in the areas of the square and the rectangle.

1.17:11

| B

. 10:9
3. 114:113

4. 196:187

Options :

686340175649. 1
686340175650. 2
686340175651. 3
686340175652. 4

Question Number : 13 Question Id : 68634044466 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Perimeter of a square is same as perimeter of a rectangle. If sides of rectangle are in the ratio 17:11. then find
the ratio in the areas of the square and the rectangle.

1.17:11

| ]

. 10:9

3. 114:113

4. 196:187



Options :

686340175649. 1
686340175650. 2
686340175651. 3
686340175652. 4

Question Number : 13 Question Id : 68634044466 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Perimeter of a square is same as perimeter of a rectangle. If sides of rectangle are in the ratio 17:11. then find
the ratio in the areas of the square and the rectangle.

1. 17:11

| )

. 10:9
3. 114:113
4, 196:187

Options :

686340175649. 1
686340175650. 2
686340175651. 3
686340175652. 4

Question Number : 14 Question Id : 68634044467 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

On a certain sum of money lent at 16% per annum. the difference between the compound interest for lyear,
payable half yearly and the simple interest for 1 year 1s ¥ 56. The sum 1s:

1. 25,780

| B

.2 7,805

4. % 8,750

Options :

686340175653. 1
686340175654. 2
686340175655. 3
686340175656. 4

Question Number : 14 Question Id : 68634044467 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



On a certain sum of money lent at 16% per annum. the difference between the compound interest for 1year.
payable half yearly and the simple interest for 1 year 1s T 56. The sum 1s:

1.2 5,780

2. 37,805

Options :

686340175653. 1
686340175654. 2
686340175655. 3
686340175656. 4

Question Number : 14 Question Id : 68634044467 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

On a certain sum of money lent at 16% per annum. the difference between the compound interest for lyear,
payable half yearly and the simple interest for 1 year 1s ¥ 56. The sum 1s:

1.7 5,780
2.2 7.805
3.2 7.850
4. % 8,750
Options :
686340175653. 1
686340175654. 2

686340175655. 3
686340175656. 4

Question Number : 15 Question Id : 68634044468 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The average age of three boys i1s 22 years. Eight times the age of the youngest of them is 3 times the sum of
the ages of the other two boys. Find the age of the eldest of them if he is 8 years older to the youngest of them.

1. 24 years
2. 25 years
3. 26 years

4. 28 years



Options :

686340175657. 1
686340175658. 2
686340175659. 3
686340175660. 4

Question Number : 15 Question Id : 68634044468 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The average age of three boys is 22 years. Eight times the age of the youngest of them is 3 times the sum of
the ages of the other two boys. Find the age of the eldest of them if he is 8 years older to the youngest of them.

1. 24 years

| )

. 25 years
3. 26 years
4. 28 years

Options :

686340175657. 1
686340175658. 2
686340175659. 3
686340175660. 4

Question Number : 15 Question Id : 68634044468 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The average age of three boys is 22 years. Eight times the age of the youngest of them is 3 times the sum of
the ages of the other two boys. Find the age of the eldest of them if he is 8 years older to the youngest of them.

1. 24 years

| )

. 25 years
3. 26 years
4. 28 years

Options :

686340175657. 1
686340175658. 2
686340175659. 3
686340175660. 4

Question Number : 16 Question Id : 68634044469 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below is the statement followed by two conclusions numbered I and II.

Statement : Our securities investment carry market risk. Consult your investment advisor or agent before
investing.

Conclusions I : One should not invest in securities.
IT : The investment advisor calculates the market risk with certainty.

Identify which of the conclusions follows the given statement:

1. Only II follows

| ]

. Only I follows
3. Both I and II follows

4. Either I or IT follows
Options :
686340175661. 1
686340175662. 2

686340175663. 3
686340175664. 4

Question Number : 16 Question Id : 68634044469 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below is the statement followed by two conclusions numbered I and II.

Statement : Our securities investment carry market risk. Consult your investment advisor or agent before
investing.

Conclusions I : One should not invest in securities.
IT : The investment advisor calculates the market risk with certainty.

Identify which of the conclusions follows the given statement:

1. Only II follows

| ]

. Only I follows
3. Both I and II follows

4. Either I or II follows

Options :

686340175661. 1
686340175662. 2
686340175663. 3
686340175664. 4



Question Number : 16 Question Id : 68634044469 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below is the statement followed by two conclusions numbered I and II.

Statement : Our securities investment carry market risk. Consult your investment advisor or agent before
investing.

Conclusions I : One should not invest in securities.
II : The investment advisor calculates the market risk with certainty.
Identify which of the conclusions follows the given statement:

1. Only II follows

| ]

. Only I follows
3. Both I and IT follows

4, Either I or II follows

Options :

686340175661. 1
686340175662. 2
686340175663. 3
686340175664. 4

Question Number : 17 Question Id : 68634044470 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Find the correct water image of the given figure (X)

S

Fig (x)

olalslN

Options :

686340175665. 1
686340175666. 2
686340175667. 3
686340175668. 4

Question Number : 17 Question Id : 68634044470 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Find the correct water image of the given figure (X)

S

Fig (x)

olalslN

Options :

686340175665. 1
686340175666. 2
686340175667 3
686340175668. 4

Question Number : 17 Question Id : 68634044470 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Find the correct water image of the given figure (X)

S

Fig (x)

olalslN

Options :

686340175665. 1
686340175666. 2
686340175667 3
686340175668. 4

Question Number : 18 Question Id : 68634044471 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

In a certain coding system. 1f2=15,4=18. 6 =39 then 10 =7

1. 105

| B
Yok
=
i

4.54

Options :



686340175669. 1
686340175670. 2
686340175671. 3
686340175672. 4

Question Number : 18 Question Id : 68634044471 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

In a certam coding system. 1f2 =15, 4 =18. 6 = 39 then 10 =7

1. 105

[ )

. 104
3.89
4.54

Options :

686340175669. 1
686340175670. 2
686340175671. 3
686340175672. 4

Question Number : 18 Question Id : 68634044471 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

In a certam coding system. 1f2 =15, 4 =18. 6 = 39 then 10 =7

1. 105

[ )

104
3. 89
4.54

Options :

686340175669. 1
686340175670. 2
686340175671. 3
686340175672. 4

Question Number : 19 Question Id : 68634044472 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Find the mirror image of the given combination

"AN5S4WMG3"
LEDMWEREZMA
2.EDWMPSNV
3.3GWMYR2MY
4L ECWM P2 UV

Options :

686340175673. 1
686340175674. 2
686340175675. 3
686340175676. 4

Question Number : 19 Question Id : 68634044472 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Find the mirror image of the given combination

"AN5S4WMG3"
LEDMWEREZMA

LEDWMPSNV
3.3GWMt2 UV
L ECWMY2ZUY

Options :

686340175673. 1
686340175674. 2
686340175675. 3
686340175676. 4

Question Number : 19 Question Id : 68634044472 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Find the mirror image of the given combination

"AN5S4WMG3"
LEDMWEREZMA
2.EDWMPSNV
3.3GWMYR2MY
4L ECWM P2 UV

Options :

686340175673. 1
686340175674. 2
686340175675. 3
686340175676. 4

Question Number : 20 Question Id : 68634044473 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
In you were born on 6th
birthday fall in 19847

November. 1983. which was a Sunday. then on which day of the week does your

1. Monday

2. Wednesday
3. Tuesday

4, Friday

Options :

686340175677. 1
686340175678. 2
686340175679. 3
686340175680. 4

Question Number : 20 Question Id : 68634044473 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In you were born on 6" November, 1983. which was a Sunday. then on which day of the week does your
birthday fall in 19847

1. Monday

b2

. Wednesday

L

. Tuesday

=

. Friday

Options :

686340175677. 1
686340175678. 2
686340175679. 3
686340175680. 4

Question Number : 20 Question Id : 68634044473 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In you were born on 6" November, 1983, which was a Sunday. then on which day of the week does your
birthday fall in 19847

1. Monday

2. Wednesday

3. Tuesday

4. Friday
Options :
686340175677. 1
686340175678. 2

686340175679. 3
686340175680. 4

Question Number : 21 Question Id : 68634044474 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Satellite having the same orbital period as the period of rotation of the earth about its own axis is known as

1. Polar Satellite

[ B

. Stationary Satellite

3. Geostationary Satellite

f-%

INSAT



Options :

686340175681. 1
686340175682. 2
686340175683. 3
686340175684. 4

Question Number : 21 Question Id : 68634044474 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Satellite having the same orbital period as the period of rotation of the earth about its own axis 1s known as

1. Polar Satellite
2. Stationary Satellite
3. Geostationary Satellite

4, INSAT

Options :

686340175681. 1
686340175682. 2
686340175683. 3
686340175684. 4

Question Number : 21 Question Id : 68634044474 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Satellite having the same orbital period as the period of rotation of the earth about its own axis 1s known as

1. Polar Satellite
2. Stationary Satellite
3. Geostationary Satellite

4. INSAT

Options :

686340175681. 1
686340175682. 2
686340175683. 3
686340175684. 4

Question Number : 22 Question Id : 68634044475 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List II

LISTI LISTII
Aluminium company Location
A [BALCO I HIRAKUND
B. HINDALCO II. [KORBA
C. |Indian Aluminum Company III. [KORAPUT
D [NALCO IV [RENUKOAT

Choose the most appropriate answer from the options given below:

1. A-III, B-I, C-IV, D-II

[ ]

AL B-TV, C-1, D-III

L]

AT B-IV. C-1, D-II
4. A1 B-1, C-IV, DI

Options :

686340175685. 1
686340175686. 2
686340175687. 3
686340175688. 4

Question Number : 22 Question Id : 68634044475 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List II

LISTI LISTII
Aluminium company Location
A [BALCO I HIRAKUND
B. HINDALCO I [KORBA
C. |Indian Aluminum Company I [KORAPUT
D. [NALCO IV [RENUKOAT

Choose the most appropriate answer from the options given below:

1. A-III, B-I, C-IV, D-II

[ ]

AL B-TV, C-1, D-III
3. A-IIT, B-IV, C-1, D-II
4. AT B-1, C-IV, DI

Options :

686340175685. 1
686340175686. 2
686340175687. 3
686340175688. 4



Question Number : 22 Question Id : 68634044475 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List T with List IT

LISTI LISTII
Aluminium company Location
A [BALCO I HIRAKUND
B. HINDALCO I [KORBA
C. |[Indian Aluminum Company II1. [KORAPUT
D. [NALCO IV. [RENUKOAT

Choose the most appropriate answer from the options given below:

1. A-III, B-1, C-IV. D-I1
2. AIL B-IV, C-I, D-1IT
3. AL BIV.CI DI
4. A-II B-1, C-IV, D-1I1

Options :

686340175685. 1

686340175686. 2

686340175687. 3
686340175688. 4

Question Number : 23 Question Id : 68634044476 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The speaker can stop a member of Parliament from speaking and let another member speak. This phenomenon
is known as

1. Decorum

[ ]

. Crossing the floor
3. Interpellation
4. Yielding the floor

Options :

686340175689. 1
686340175690. 2
686340175691. 3
686340175692. 4

Question Number : 23 Question Id : 68634044476 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The speaker can stop a member of Parliament from speaking and let another member speak. This phenomenon
is known as

1. Decorum

| )

. Crossing the floor
3. Interpellation
4. Yielding the floor

Options :

686340175689. 1
686340175690. 2
686340175691. 3
686340175692. 4

Question Number : 23 Question Id : 68634044476 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The speaker can stop a member of Parliament from speaking and let another member speak. This phenomenon
is known as

1. Decorum

| )

. Crossing the floor
3. Interpellation
4. Yielding the floor

Options :

686340175689. 1
686340175690. 2
686340175691. 3
686340175692. 4

Question Number : 24 Question Id : 68634044477 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List II

LISTI LISTII
Religious Institution Founder
A |Arva Samaj I. |Gopal Krishna Gokhle
B. [Famakrishna Mission II. N M Joshi
C. |Servant of Indian society IT1. [Dayanand Saraswarti
D_ |Social Sevice League IV |Swami Vivekananda

Choose the most appropriate answer from the options given below:

1. A-IIL, B-IV. C-II. D-I

[ ]

AL B-IV. C-1, D-IT
3. A IV, B-III, C-1, D-II
4. AT B-IV, C-I, DT

Options :

686340175693. 1
686340175694. 2
686340175695. 3
686340175696. 4

Question Number : 24 Question Id : 68634044477 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List II

LISTI LISTII
Religious Institution Founder
A |Arva Samaj I. |Gopal Krishna Gokhle
B. [Famakrishna Mission II. INM Joshi
C. |Servant of Indian society 1M1 [Dayanand Saraswati
D. [Social Sevice League IV, |Swami Vivekananda

Choose the most appropriate answer from the options given below:

1. A-TIL, B-IV, C-1I. D-I
2 AN BIV.CI.DII
3. A IV, B-III, C-1, D-II
4. AT B-IV, C-I, DI

Options :

686340175693. 1

686340175694. 2

686340175695. 3
686340175696. 4



Question Number : 24 Question Id : 68634044477 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List T with List IT

LISTI LISTII
Religious Institution Founder
A |Arva Samaj I. |Gopal Krishna Gokhle
B. [Ramakrishna Mission IT. IN.M Joshi
C. |Servant of Indian society II1. |Davanand Saraswati
D. |Social Sevice League IV, |Swami Vivekananda

Choose the most appropriate answer from the options given below:

1. ATl BIV. C-II. DI

| ]

AL B-IV, C-1, D-II

5]

CA-IV, BT, C-1, D-IT
4. A-II B-IV, C-1, D-111

Options :

686340175693. 1
686340175694. 2
686340175695. 3
686340175696. 4

Question Number : 25 Question Id : 68634044478 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Point of origin of earthquake wave is known as

1. Seismic zone
2. Focus
3. Photosphere
4. Epicentre

Options :

686340175697. 1

686340175698. 2

686340175699. 3
686340175700. 4

Question Number : 25 Question Id : 68634044478 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Point of origin of earthquake wave is known as

1. Seismic zone

2

. Focus

LFS]

. Photosphere
4, Epicentre

Options :

686340175697. 1
686340175698. 2
686340175699. 3
686340175700. 4

Question Number : 25 Question Id : 68634044478 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Point of origin of earthquake wave is known as
1. Seismic zone
2. Focus
3. Photosphere
4. Epicentre
Options :
686340175697. 1
686340175698. 2

686340175699. 3
686340175700. 4

Part B: Vyakaran
Section Id : 686340876
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75
Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 6863401453
Question Shuffling Allowed : Yes

Is Section Default? : null



Question Number : 26 Question Id : 68634044479 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
I ATH Hfaf: 2
ESEEH
2. d fa
3. 3IGEE:

4. 3HId:

Options :

686340175701. 1
686340175702. 2
686340175703. 3
686340175704. 4

Question Number : 26 Question Id : 68634044479 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
@I TH Sfyfafer: 2
1. 4998
2. d fa
3. 3G

4. HHId:

Options :

686340175701. 1
686340175702 2
686340175703. 3
686340175704. 4

Question Number : 26 Question Id : 68634044479 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



&I =11 Hyfafe: 2

1.d9 98

2. dA fan

3.3 aQ:

4. HYIT:
Options :
686340175701. 1
686340175702. 2

686340175703. 3
686340175704. 4

Question Number : 27 Question Id : 68634044480 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
3¢ HYTEIH AT
HYAY I STEIFH TS|
BYTH II: - TVHS: |
ST YTl ST Y: Ueaighely FHI IR =d -

1. BYTH L HYTH 11 T SHT 1Y |

2. Y I, HYAH 11 9 FHTH ST
3. YA 1 1Y, TR BYUH 11 37|
4, YT I ST, TR=q HUH 11 1Y

Options :

686340175705. 1
686340175706. 2
686340175707. 3
686340175708. 4

Question Number : 27 Question Id : 68634044480 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Y HYTEIH A&
BHYTH I TP ST
BYTH IT: - VG |

Sydai Ul 3T e Ugulddedy HHlHH Jty =d -

1. PYTH L HYTH I I IHY 1Y

[

YA I, BYFH I 9 SHTH Y|

Lag

U 1 TTY, TR HYTH 11 31|

=

CPYAH T ST |, W HUAH II I
Options :

686340175705. 1

686340175706. 2

686340175707. 3
686340175708. 4

Question Number : 27 Question Id : 68634044480 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
3¢ hYgaH 3R
HYAY I STEIFH TS|
Y IL: S<TRT: T |
STeAH YA TS SY: Yadiahedy FHEH SRH &d -

1. PYTH L DYTH I 9 SHT 1Y |

[ )

B 1 YFH 11 9 SHTH ST

Laa

YT T 1Y, U DU 1T ST

e

U 1 SHRTY |, TR HYAH 11 1Y

Options :

686340175705. 1
686340175706. 2
686340175707. 3
686340175708. 4

Question Number : 28 Question Id : 68634044481 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Y PYTEIH ST

HYY I: STIHHIHH FHERUR H06: |

FYFH I1: TJAUHH TR Sl |

SR FID YL SHTb 31¢): Yaaiddedy THH ST e d -

1. BYTH L HYTH 11 T SHT 1Y |
2. PYTH L DYTH 1 9 SHTH 31|
3. PYTH I TTE, G PYTH 11 3]
4, PYTH T ST |, TR HUTH 11 F1Y|
Options :
686340175709. 1
686340175710. 2

686340175711. 3
686340175712. 4

Question Number : 28 Question Id : 68634044481 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

He: HYTEIH T

YA 1: SYYHHTAH FHRURYM HUS: |

HYTH IL: U SRR Gl |
OB YTl TS 37Y: Hexidmedy FHt- SR o -

1. BYTH L HYTH I I SHT 1Y |

2. HYH L, HYAH 11 9 FHTH ST
3. BHYAH [ 1Y, TR HYUTH 11 1Y |
4, Y I ST, TR=q] PHUH 11 T

Options :

686340175709. 1
686340175710. 2
686340175711. 3
686340175712. 4



Question Number : 28 Question Id : 68634044481 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

31 PYTEH T

HYTH I: TYUHFIGHH IRV HUG: |
FYY IL: AT S=HRURTH &k |
ST YTl ST Y: Ueaighely FHI IR =d -

1. PYTH L SYTH I 9 SHT 1Y |

[ )

B 1 YFH 11 9 SHTH ST

3. YA 1 1Y, YR DYUFH IT 31|

e

U 1 SHRTY |, TR HYAH 11 1Y

Options :

686340175709. 1
686340175710. 2
686340175711. 3
686340175712. 4

Question Number : 29 Question Id : 68634044482 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Y HYTEIH A&

FYF I: T FJTRUGH HI 1= 3a0: F: TG |

HY 11: [hua1 98 99 T 3-a0: T: Uiduw: |

U PYFL: eI 3He: UgdlaPpedy FHIEH STRH [&d -

1. PYTH L HYTH I I IHY 1Y

[

YA I, BYFH I 9 SHTH Y|

Lag

U 1 IY, TR HYH 11 31|

=

YA T ST |, U] HYFH 11 H1E |

Options :

686340175713. 1
686340175714. 2
686340175715. 3
686340175716. 4



Question Number : 29 Question Id : 68634044482 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e DY 3T

HYF I: TF ITRUGH T o8 $-a4: F: TUGRE |
HYA 11: [hTa1 I8 I o8 3aT: J: Uiciues: |
ST HYTAT: AT 3 Tedfaeedy FHH STRA o -

1. PYTH L DYTH I 9 SHT 1Y |

| )

B 1 BYFH 11 9 SHTH ST

Laa

YA T 1Y, U HYH 11 31|

=y

T T 3T, TR U I 1|

Options :

686340175713. 1
686340175714. 2
686340175715. 3
686340175716. 4

Question Number : 29 Question Id : 68634044482 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Y PYTEIH ST

HYF I: TF ITRUS I o8 a7: F: THUGRE |

HY 11: [h0a1 I8 97 o8 3a0: T Uiaue: |

Suad Syl el He: Uadidhedy FHIMY SuH o -

1. BYTH L HYTH 11 T SHT 1Y |

[

DY I, DY I 9 SHTH Y|

L]

U 1 TY, TR HYH 11 31|

=

 HUT 1 3T |, TR YA 11 1|

Options :

686340175713. 1
686340175714. 2
686340175715. 3



686340175716. 4

Question Number : 30 Question Id : 68634044483 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T 198 eI 11 IR "I oo -
Tl 1 = I

SHTReCH fgad- A1Rd | I FrEEd
SodATag G fa#H | 11 [hgcHd
ToTIh dodH HgRaH | 11 [elférdad
SUTRecH] fgad—1 Hi&| IV, [edeaud

H Tafed famed = -

1LA-II.B-I.C-II.D-1IV

ofofw]-

[ ]

CA-LB-ILC-NILD-IV
JA-ILB-LC-IL.D-IV
4 A-II.B-LC-IV.D-III

Options :

686340175717. 1
686340175718. 2
686340175719. 3
686340175720. 4

Question Number : 30 Question Id : 68634044483 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T 198 eI 11 IR "I oo -
T 1 T 1T

YOG fgad A% | I [HFEEd
SodATag G fa#H | 11 [hgcHd
ToTIh dodH HgRaH | 11 [elférdad
SHIRIeeH fgdd-H HE| IV, [g¥eaqd

H Tafed famed = -

1LA-II.LB-L.C-ILD-IV

ofofw]>

[ ]

CA-LB-IILC-NILD-IV
JA-ILB-LC-IL.D-IV
4 A-II.LB-LC-IV.D-III

Options :



686340175717. 1
686340175718. 2
686340175719. 3
686340175720. 4

Question Number : 30 Question Id : 68634044483 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

et 1 9% G 11 IRER |yfed dead -
Tt 1 T 11

. 1. [aead
. e day sHaREy | o [Eighea
. [BvaRIscH Tgged AR IV, [gRaoad

s ey T famed R -

LA-II.B-I.C-NIILD-IV

:

| B)

A-LB-IILC-NIILD-IV
JA-IL.B-L.C-II.LD-IV
4 A-II.B-L.C-IV.D-III

Options :

686340175717. 1
686340175718. 2
686340175719. 3
686340175720. 4

Question Number : 31 Question Id : 68634044484 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T 198 eI 11 IR "I oo -

T et o
EIGEIGE 1. [SUCECE:
EIAE 1L [Hya:

g e | sy
faoiqeem: [1v [emeq

Sfefifegafdm ey wafad famed fgd -

1LA-II.LB-L.C-ILD-IV

ofofw]-

2ZA-ILB-II.LC-MI,D-1IV
JA-ILB-LC-IL.D-IV
4 A-II.B-LC-IV.D-III

Options :

686340175721. 1
686340175722. 2
686340175723. 3
686340175724. 4

Question Number : 31 Question Id : 68634044484 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T 198 G 11 IR e oo -

T et o
EIGEIGE I UGG
RECE 1. [Fem:

g e | sy
[aviqedt:  [1v g

HefeREafdP Yy Ffd fdoed f=rd -

1LA-II.LB-L.C-ILD-IV

ofofw]>

2ZA-ILB-II.C-III.D-1IV
JA-ILB-LC-IL.D-IV
4 A-II.B-L.C-IV.D-III

Options :

686340175721. 1
686340175722. 2
686340175723. 3
686340175724. 4



Question Number : 31 Question Id : 68634044484 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T 198 A 11 IR " gead -

Gl g 0
EIGRIGE I [SUCCE:
EECE 1. [Fem:

ERESEI P ERre
fauiqadia: | 1v [srsH

Heifeigafde ey wafad fawed fd -

1LA-II.B-I.C-NIIL.D-IV

o[ofw]s

22A-LB-II.C-III.D-IV
JA-NILB-1.C-II.D-IV
4 A-II.B-L.C-IV.D-III

Options :

686340175721. 1

686340175722. 2

686340175723. 3
686340175724. 4

Question Number : 32 Question Id : 68634044485 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HY: PYTETH AR | ThH HHHYUTH (A). fgdid § T8 PRUH (R) -

STUGYH A - 'TH0 I SFTG: [Uar 33 G SUe: |

PRUM R : T g AeTra=Tyard |
Sy UAgaTde SHEHH S & -

1. A. R 9 34T TIH; R. A S0 GHEIH o0 S3fd |

| )

. A. R I 3YT dT; R, A 50 YU g 7 B |

3. AHAH, i R SHAHHH
4. A ST, R R IGq
Options :

686340175725. 1
686340175726. 2



686340175727. 3
686340175728. 4

Question Number : 32 Question Id : 68634044485 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
3{%: FYUTGIH T | ThH HUHYUAH (A). Gl T8 FRIA (R) :
HIUFYY A - AU I AT TUar o T HUUF: |
PRUTH R : T b gl QIgiearaRTHTard |
SydaiP UGl JHlHHY ST & -

1. A. R 9 344 GI: R, A SO YA AR BRI |

| ]

A, R T 344 GIH; R. A T YHHIH SURaA A B |

L¥ 5]

. AT, R R ST

4. A SHTH, IR UHq

Options :

686340175725. 1
686340175726. 2
686340175727. 3
686340175728. 4

Question Number : 32 Question Id : 68634044485 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3¢: DYAETH KT | UhH HHHYTH (A). fgdid J T PRUH (R) :
STUGYH A - 'TH0 I SFTG: [Uar 33 G SUe: |

RO R : T o gmai QIgTeara=THTand |

Sy UAgaTde SHEHH S & -

1. A. R 9 34T TIH; R, A T GHEH O S |

| )

. A. R I 3YT dT; R, A 50 YU g 7 B |

[¥5]

A FIH, TR R 3T
4. A ST, I R TIH

Options :
686340175725. 1



686340175726. 2
686340175727. 3
686340175728. 4

Question Number : 33 Question Id : 68634044486 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

qdayH A e
1. 3agHg
2. Y&
3. Farg=Ay
4, Uiy

Options :

686340175729. 1
686340175730. 2
686340175731. 3
686340175732. 4

Question Number : 33 Question Id : 68634044486 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Jadr = e
1. 3T
2. HEUH
3. Farg=Ay
4, Ufceurg

Options :

686340175729. 1
686340175730. 2
686340175731. 3
686340175732. 4

Question Number : 33 Question Id : 68634044486 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Y -1 fhr?
1. 3{q9HY
2. H&TH
3. ey
4. giaeg
Options :
686340175729. 1
686340175730. 2

686340175731. 3
686340175732. 4

Question Number : 34 Question Id : 68634044487 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Tl o1 5 gl o s e
1. Msfagds el
2. Fa9 9 g
3. Pk Yladd
4, ST 1:

Options :

686340175733. 1
686340175734. 2
686340175735. 3
686340175736. 4

Question Number : 34 Question Id : 68634044487 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Tl o 5 gl o s i e
1. fisfagiar ol
&I 9 o
3. Pk yidgd
4. ST 1:

Options :

| B



686340175733. 1
686340175734. 2
686340175735. 3
686340175736. 4

Question Number : 34 Question Id : 68634044487 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

DHNEITAH D' gl I el 5ia TYT 7

1. Fisfaged w0
2. 59 9 g
3. Pk yidgd
4. ST 12

Options :

686340175733, 1

686340175734.2

686340175735. 3
686340175736. 4

Question Number : 35 Question Id : 68634044488 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

S Ufdd: 3fd & agf 2
1. aa i}ﬂﬂ:
 HIHYT:
) %ﬁ[:
4, T
Options :
686340175737. 1
686340175738. 2

686340175739. 3
686340175740. 4

[ ]

L]

Question Number : 35 Question Id : 68634044488 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



b

4. FTIAET:

Options :

686340175737. 1
686340175738. 2
686340175739. 3
686340175740. 4

Question Number : 35 Question Id : 68634044488 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
SHRST Wi §id & gaf 2

1. deif=<:

 HIHEST:

 AMfeEPT:
4. aTeT:

Options :

686340175737. 1

686340175738. 2

686340175739. 3
686340175740. 4

| )

[#5]

Question Number : 36 Question Id : 68634044489 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SrafaeRy fodb A1 2
1. STHEIYHYG:
2. YD HIG:
3. HTATTHI S HTG:
4. IO H ST H1a:

Options :



686340175741. 1
686340175742. 2
686340175743. 3
686340175744. 4

Question Number : 36 Question Id : 68634044489 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

srafaeRry fob A1 2
1. AP HIG:

2. qIHAdU D YHId:

3. SFAIAYS HIG:
4. IS H1a:

Options :

686340175741. 1
686340175742. 2
686340175743. 3
686340175744. 4

Question Number : 36 Question Id : 68634044489 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HHideRY fdb & 2
1. STEHEIYBUG:

2. IS YHId:

3. HTHAFHIY D HIG:
4. UISHISIh H1a:

Options :

686340175741. 1
686340175742. 2
686340175743. 3
686340175744. 4

Question Number : 37 Question Id : 68634044490 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



1. TRIRAH
2. HUBPRYAH
3. fafergam
4. URUTYREY

Options :

686340175745. 1
686340175746. 2
686340175747. 3
686340175748. 4

Question Number : 37 Question Id : 68634044490 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
1. WA
2. HUPRGAH
3. fafergas
4. URUTYREY
Options :
686340175745. 1
686340175746. 2

686340175747. 3
686340175748. 4

Question Number : 37 Question Id : 68634044490 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
1. TRIRAH

|



Options :

686340175745. 1
686340175746. 2
686340175747. 3
686340175748. 4

Question Number : 38 Question Id : 68634044491 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3 YRR 5 SYUTee H15: 2
1. 3fferepTRre:

2, Agan:
3. Foef:

4. gRETY:

Options :

686340175749. 1
686340175750. 2
686340175751. 3
686340175752. 4

Question Number : 38 Question Id : 68634044491 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HY e HRIEH 0 3Y¥sas Hise: 7
1. fftrepRTY:

2. ggank:
3. fagmned:

4. IRETY:

Options :

686340175749. 1
686340175750. 2
686340175751. 3
686340175752. 4

Question Number : 38 Question Id : 68634044491 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



3 YRR 5 SYUTee H15: 2
1. iR

2, Agan:
3. Foef:

4. gRETY:

Options :

686340175749. 1
686340175750. 2
686340175751. 3
686340175752. 4

Question Number : 39 Question Id : 68634044492 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Pl Gags THEIEY fHd 2
1. Fgmng

Rhite)

fapeardy

-

| )

[#5]

4. FTeiy

Options :

686340175753. 1
686340175754. 2
686340175755. 3
686340175756. 4

Question Number : 39 Question Id : 68634044492 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FalGayA GarEagy ey 2
1. Faamg

. TqpTdH

fapemiy

H

| ]

L

4. gy



Options :

686340175753. 1
686340175754. 2
686340175755. 3
686340175756. 4

Question Number : 39 Question Id : 68634044492 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

PalGaYS FHETE T 2
1. iy

Rahiie)
fa@mendg

-

4. Ggrdy

-4

| )

[#5]

Options :

686340175753. 1
686340175754. 2
686340175755. 3
686340175756. 4

Question Number : 40 Question Id : 68634044493 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Y HYTEIH AR |
PY 1 : Ve GRE Tl UEIOTSHET: |
FYT 11 : FRIaUEYe: Folden: 9 T: ArRve:|
ST YT TG : Uewigpely FHIEH ST =d -

1. BYTH L HYTH 11 T SHT 1Y |

2. Y I, HYAH 11 9 FHTH ST
3. YA I 1Y, TR BYUH 11 ST |
4, YT I ST, TR=q HUH 11 1Y

Options :

686340175757. 1
686340175758. 2
686340175759. 3
686340175760. 4



Question Number : 40 Question Id : 68634044493 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3HY: HYAGIH A |

DY 1 : Y3 gRIETRI WA Yz IforeHar: |
HY I : REayeYa: Hdlgor: 9 Mok ArRvg:|
OB YTl TS 37Y: Yl edy FHti-r ST o -

1. PYTH L DYTH I 9 SHT 1Y |

| )

B 1 BYFH 11 9 SHTH ST

Laa

YT T 1Y, U DU 1T ST

=y

YT 1 SHHIY |, TR~ HUAH 11 91|
Options :

686340175757. 1

686340175758. 2

686340175759. 3
686340175760. 4

Question Number : 40 Question Id : 68634044493 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Y HYTEIH AR |
BHYT 1 : TYRMedgLER A YEIToTe Her: |
FYT 11 : FRIaUEYe: Folden: 9 T: ArRve:|

SRFID YL SHTeb 318): Yaaiddedy THH - ST & d -

1. BYTH L HYTH 11 T SHT 1Y |

[

DY I, DY I 9 SHTH Y|

L]

U 1 T8, TR HYTH 11 3¢

=

 HYTH I 3RTE |, TR YA 11 91|

Options :

686340175757. 1
686340175758. 2
686340175759. 3



686340175760. 4

Question Number : 41 Question Id : 68634044494 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
I G DY Ug=oa: ?
1.4 34
2. 91 1Y
3.9 311
4.3 iy

Options :

686340175761. 1
686340175762. 2
686340175763. 3
686340175764. 4

Question Number : 41 Question Id : 68634044494 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
AT G DY Ugwdg: 2
1. G 3
2. 91 31
3.9 31y
4.3 3fHy

Options :

686340175761. 1
686340175762. 2
686340175763. 3
686340175764. 4

Question Number : 41 Question Id : 68634044494 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A P DY Ug=9g: ?
1. a1 37
2. 9T 3T
3.9 3y
4.3 3y

Options :

686340175761. 1
686340175762. 2
686340175763. 3
686340175764. 4

Question Number : 42 Question Id : 68634044495 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
P T B YH: 2
1. Sgdife:
2. SIAATGG:
3. T8¢
4. FAERGS:
Options :
686340175765. 1
686340175766. 2

686340175767. 3
686340175768. 4

Question Number : 42 Question Id : 68634044495 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TR s & JHM: ?
1. dgdife:
2. SRANE &
3. f&T:
4. HHIeNRgg:

Options :



686340175765. 1
686340175766. 2
686340175767. 3
686340175768. 4

Question Number : 42 Question Id : 68634044495 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TR s & JHM: ?
1. dgdife:
2. SIARANTG &
3. f&T:
4. HHIeNRgg:

Options :

686340175765. 1
686340175766. 2
686340175767. 3
686340175768. 4

Question Number : 43 Question Id : 68634044496 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
SRS AT &: 2
1. Hoqu:
2. SHau:
3. 3nfeant:
4. gequ:

Options :

686340175769. 1
686340175770. 2
686340175771. 3
686340175772. 4

Question Number : 43 Question Id : 68634044496 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



SER: TH P 7

1. 3rsauf:

2. ST aU:

3. 3ffeant:

4, eduf:
Options :
686340175769. 1
686340175770. 2

686340175771. 3
686340175772. 4

Question Number : 43 Question Id : 68634044496 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
a7 - 2
1. 3{oquf:
2. Sy au:
3. affeaut:
4. GeqU:
Options :
686340175769. 1
686340175770. 2

686340175771. 3
686340175772. 4

Question Number : 44 Question Id : 68634044497 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
ifaEsTE AERee HisY: 2
1. SIGYROH
iR
3R
4. 2=

| )

[#%]

Options :



686340175773. 1
686340175774. 2
686340175775. 3
686340175776. 4

Question Number : 44 Question Id : 68634044497 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
faafeaTiE Aeeees Hisd: 2
1. SGYIRUTH
BEIEauesy

3. Hlad:
4. o-H

~

| )

Options :

686340175773. 1
686340175774. 2
686340175775. 3
686340175776. 4

Question Number : 44 Question Id : 68634044497 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
ifaEsTE AERee HisY: 2
1. YR
freRom
3. ST
4. 2=

x

| )

Options :

686340175773. 1
686340175774. 2
686340175775. 3
686340175776. 4

Question Number : 45 Question Id : 68634044498 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T4T9: I o1 R ey 9. gfq wafa-
1. Haiaﬁ:
4. GG
Options :
686340175777. 1
686340175778. 2

686340175779. 3
686340175780. 4

| )

L

Question Number : 45 Question Id : 68634044498 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HAE: TR S8 T ifey: i, 5id vafd-

1. Falder:

ST

IS
4. AHTGE:

Options :

686340175777. 1

686340175778. 2

686340175779. 3
686340175780. 4

| )

L

Question Number : 45 Question Id : 68634044498 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Yd-T1%: U o : R 3fey: 2, gfd vafd-
1. ol
SIS
 JUITIE:
4. AT

Options :

| ]

L



686340175777. 1
686340175778. 2
686340175779. 3
686340175780. 4

Question Number : 46 Question Id : 68634044499 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AU e fadiad -
1. ShI:
gu=
TSIl
4. Ad9H
Options :
686340175781. 1
686340175782. 2

686340175783. 3
686340175784. 4

| ]

[#%]

Question Number : 46 Question Id : 68634044499 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AU e fadiad -
1. Shl:
g4
BV Gt
4. Ad9H
Options :
686340175781. 1
686340175782. 2

686340175783. 3
686340175784. 4

[

L]

Question Number : 46 Question Id : 68634044499 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



4. ragH

Options :

686340175781. 1
686340175782. 2
686340175783. 3
686340175784. 4

Question Number : 47 Question Id : 68634044500 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fufTa=I T e REGRIUT Yafd -

1. geTall
 SeHSI:

4. 99

Options :

686340175785. 1
686340175786. 2
686340175787. 3
686340175788. 4

| )

[#5]

Question Number : 47 Question Id : 68634044500 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

faufda=A e RaGRIUT Yafd -

1. Sl
SERSESIIEELE
i

4. 49

| )

L



Options :

686340175785. 1
686340175786. 2
686340175787. 3
686340175788. 4

Question Number : 47 Question Id : 68634044500 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fayfTa=A T e RIGRIUT Yafd -

1. gerall
SRSESIIEREE
d:

4 TT

Options :

686340175785. 1
686340175786. 2
686340175787. 3
686340175788. 4

| )

[#5]

Question Number : 48 Question Id : 68634044501 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ty

AR Hdik yafd -

1. geitan
2. 9t
3. Ay
4. Tt

Options :

686340175789. 1
686340175790. 2
686340175791. 3
686340175792. 4

Question Number : 48 Question Id : 68634044501 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



3R Bl 1afd -
L. el
2. aqdf
3. TyAT
4. Tt

Options :

686340175789. 1
686340175790. 2
686340175791. 3
686340175792. 4

Question Number : 48 Question Id : 68634044501 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ty

AR Hdik yafd -

1. geitan
2. 9t
3. Ay
4. Tgdm

Options :

686340175789. 1
686340175790. 2
686340175791. 3
686340175792. 4

Question Number : 49 Question Id : 68634044502 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FUTPRUYNURIR: B T AR 2

TR A S

oy

-

2. JUTH ORGP HET:

[#%]

HelHE

4. TGP I

Options :



686340175793. 1
686340175794. 2
686340175795. 3
686340175796. 4

Question Number : 49 Question Id : 68634044502 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

UIHRUTYNUNR: HX TR ARITHH 2
1. UTHIUHT TS

[

. AUTBRUITAGTTD IET:

L]

HeTH Y

B RGH

Options :

686340175793. 1
686340175794. 2
686340175795. 3
686340175796. 4

=Y

Question Number : 49 Question Id : 68634044502 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FUTPRUYNURIR: BRI T AR 2

1. JUERUHA S

| ]

. JUTDHRUTRIG T [HET:

[#%]

HelHE

NGB

Options :

686340175793. 1
686340175794. 2
686340175795. 3
686340175796. 4

e

Question Number : 50 Question Id : 68634044503 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



JHffEa HHr Hafa -
1. fedman
2. qdtar
3. gt

4. UYHT

Options :

686340175797. 1
686340175798. 2
686340175799. 3
686340175800. 4

Question Number : 50 Question Id : 68634044503 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
iffed Ffor wafa -
1. at_‘i 4

.qaran
3, T

| )

4. JYHT
Options :
686340175797. 1
686340175798. 2

686340175799. 3
686340175800. 4

Question Number : 50 Question Id : 68634044503 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HfYfed ST vafd -
1. fecfar
2. i
3. T

4. UYHT

Options :



686340175797. 1
686340175798. 2
686340175799. 3
686340175800. 4

Question Number : 51 Question Id : 68634044504 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

deTg: O ARIAURIS Y daid -

2. a1 9Ea9
3. difet

4. TRISTAN DS ST

Options :

686340175801. 1
686340175802. 2
686340175803. 3
686340175804. 4

Question Number : 51 Question Id : 68634044504 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g SO ARG deid -

4, QRISTANYS ST

Options :

686340175801. 1
686340175802. 2
686340175803. 3
686340175804. 4

Question Number : 51 Question Id : 68634044504 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



2. AT 9EaY
3, aifet

4. ISTAMY S STARD! a1

Options :

686340175801. 1
686340175802. 2
686340175803. 3
686340175804. 4

Question Number : 52 Question Id : 68634044505 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
1. TUITTETe:
2. Quiydia:
3. Slafgare:
4. qOEIdIg:

Options :

686340175805. 1
686340175806. 2
686340175807. 3
686340175808. 4

Question Number : 52 Question Id : 68634044505 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
1. TOUETE:

. gurgdra:

3. gleigare:

| )



Options :

686340175805. 1
686340175806. 2
686340175807. 3
686340175808. 4

Question Number : 52 Question Id : 68634044505 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
1. TOMYaTe:
2. AUATE:
3. Siafgare:
4, qOEYTIae:

Options :

686340175805. 1
686340175806. 2
686340175807. 3
686340175808. 4

Question Number : 53 Question Id : 68634044506 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
g T U 3 3areryi faerd -
1. e,

2. 7199

L

3. 770y
4. 79

Options :

686340175809. 1
686340175810. 2
686340175811. 3
686340175812. 4

Question Number : 53 Question Id : 68634044506 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



gral f U s 3erevvl faed -
1. ey,
2. 7199

LY

3. 710
4. 7iaq

Options :

686340175809. 1
686340175810. 2
686340175811. 3
686340175812. 4

Question Number : 53 Question Id : 68634044506 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
qTd! i el 50 3are faerd -
1. TMMetH
2. 7T

LY

3. 710
4. 7iaq

Options :

686340175809. 1
686340175810. 2
686340175811. 3
686340175812. 4

Question Number : 54 Question Id : 68634044507 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

JdifdeH fadianm o vafd -
1. AP0 PRE

 qUIi=R U g Jae

 HARTaRIEY

4, - Act:

| ]

L

Options :



686340175813. 1
686340175814. 2
686340175815. 3
686340175816. 4

Question Number : 54 Question Id : 68634044507 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

iR fadigae e wafd -
1. D0 PRB

. qUIR UM ag s Ja e

R ReTaRaE™

4, 3-d A<t

| )

L

Options :

686340175813. 1
686340175814. 2
686340175815. 3
686340175816. 4

Question Number : 54 Question Id : 68634044507 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
i e fadiaar o wafd -
1. R0 PRSP
 qUIRUToAd g e ga e
S ARTARIE™

4. 3-HH A<t

| ]

[#%]

Options :

686340175813. 1
686340175814. 2
686340175815. 3
686340175816. 4

Question Number : 55 Question Id : 68634044508 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T RITITT R RIRea: AT e -
EEEE
. ISR

3. SHITHY

| )

4. T
Options :
686340175817. 1
686340175818. 2

686340175819. 3
686340175820. 4

Question Number : 55 Question Id : 68634044508 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
1. TIHA:
TG

3. SHITHY

| )

4. UIEd

Options :

686340175817. 1
686340175818. 2
686340175819. 3
686340175820. 4

Question Number : 55 Question Id : 68634044508 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
1. TIHA:
TG

| )



Options :

686340175817. 1
686340175818. 2
686340175819. 3
686340175820. 4

Question Number : 56 Question Id : 68634044509 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

‘qfcreraraTY SUSET: SO HISER JHaaues Hisd: 2

1. I}EHQ[H[%E]:
2. UIHTHFA Y0 HiHaSr:
3. QAU
4. YIS,

Options :

686340175821. 1

686340175822. 2

686340175823. 3
686340175824. 4

Question Number : 56 Question Id : 68634044509 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

qiagaaray SudRr: g HTYTHIR SHAEYEy HIsY: ?
1. SERUTHT:

2. UIHTEFYI HiHaw:

3. YRAVAf:
4. JOISH

Options :

686340175821. 1
686340175822. 2
686340175823. 3
686340175824. 4

Question Number : 56 Question Id : 68634044509 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



‘qfcreraraTY SUSET: SO HISER JHaaues Hisd: 2

1. SERUIHT:
2. UIHTHFA Y0 HiHaSr:
3. QRAVf:
4. YOI

Options :

686340175821. 1

686340175822. 2

686340175823. 3
686340175824. 4

Question Number : 57 Question Id : 68634044510 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HEIUTYERN Hied 419 A Al 2
1. §aq

1}

Options :

686340175825. 1
686340175826. 2
686340175827. 3
686340175828. 4

Question Number : 57 Question Id : 68634044510 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HETUTSIERT Bled 19 9 $aid 2
1. faq

13



Options :

686340175825. 1
686340175826. 2
686340175827. 3
686340175828. 4

Question Number : 57 Question Id : 68634044510 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TETHTSIERT Bled 14 9 $aid 2
1. Paq

13

Options :

686340175825. 1
686340175826. 2
686340175827. 3
686340175828. 4

Question Number : 58 Question Id : 68634044511 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

wHT G fgdtoan g=ar 98 Hedd -
el 1 T I

N R I [cafd:

B. [fag sy I [Fagy:

C.[sgd@=ig |l |dgg

D. [gdi: IV [fita

3y gy fad ey Siedads 3w g -
LA-LB-10,0 -0, D1
2o =T <10 -1, 01
3 A-ILB-~IL C-LD-IV
4. A-T,B-I,C-IV,D-1I
Options :
686340175829. 1

686340175830. 2
686340175831. 3



686340175832. 4

Question Number : 58 Question Id : 68634044511 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
wUH] g fgdiaan I=ar 9 gadd -

T 1 T I
Uddgayg | L [¢di:
OdlcdasG e 11 [Hauy:

g0 g4y III. |fagg
BCUR: v [ifiaeq

31¢f: wey fas ey Sferddas S fodd -

1LA-ILB-II.C-NIIL.D-IV

ofofw>

2ZA-IVB-IILC-II.D-I
JA-IILB-IILC-1.D-1IV
4 A-IILLB-ILLC-IV.D-1

Options :

686340175829. 1
686340175830. 2
686340175831. 3
686340175832. 4

Question Number : 58 Question Id : 68634044511 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

yuwi g fgdiaan g=ar 9 daad -
GGl T 10

A [UUIg<Ed | L [adi¥:

B. [gwaraiu=aiy| 1. [hagy:

C. [dgd 8=l 111 |fagg

D. [FauR: v [ffiaH

3y gy fae ety Siedary 9w o -

1LA-ILB-II.C-TL.D-IV
2ZA-IVB-III.C-II.D-I
JA-IILB-IIILC-1.D-1IV
4 A-IILLB-ILLC-IV.D-1I

Options :



686340175829. 1
686340175830. 2
686340175831. 3
686340175832. 4

Question Number : 59 Question Id : 68634044512 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HETHSIER ardgsil goiHT- s fofE 2
1. TR ST
2. FerHRIYTd
3. TIAGRIURTYT
4. HHUNSURTHTA

Options :

686340175833. 1
686340175834. 2
686340175835. 3
686340175836. 4

Question Number : 59 Question Id : 68634044512 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HETHSIER ardgsil goiHT- s fofE 2
1. TR ST
2. FerHTRIYTd
3. TIAGRIURTYT
4. USRI

Options :

686340175833. 1
686340175834. 2
686340175835. 3
686340175836. 4

Question Number : 59 Question Id : 68634044512 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



ETHYER ardsil 9 & e 2
1. TERAISURTI
2. feraToRIYT
3. HAgRIURIYT
4. FHUNSURTYT

Options :

686340175833. 1
686340175834. 2
686340175835. 3
686340175836. 4

Question Number : 60 Question Id : 68634044513 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
GIEZ 3 A -
1. yellquerde: wf:
2. g eafT:
3. qRHTY: Ef:
4. JfTETd: G:
Options :
686340175837. 1
686340175838. 2

686340175839. 3
686340175840. 4

Question Number : 60 Question Id : 68634044513 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
dld  ¥ieg 5 -
1. Ueitaquaree: wf:
2. agriep: eaf:
3. qrde: af:
4. JfTETd: G:

Options :



686340175837. 1
686340175838. 2
686340175839. 3
686340175840. 4

Question Number : 60 Question Id : 68634044513 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

did_ Wea sged -
1. Weiiquerde: eaf:
2. 3qdie: @i
3. qrde: af:

4. 3fexrd&: @

Options :

686340175837. 1
686340175838. 2
686340175839. 3
686340175840. 4

Question Number : 61 Question Id : 68634044514 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ATHIUH Yeg W &: U1 2

4. 3¢

Options :

686340175841. 1
686340175842. 2
686340175843. 3
686340175844. 4

Question Number : 61 Question Id : 68634044514 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



HHIMHI Yea ™ &: UgTY:

4. 3fef:

Options :

686340175841. 1
686340175842. 2
686340175843. 3
686340175844. 4

Question Number : 61 Question Id : 68634044514 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AHIMETY e &: USre: 2

: 1

4. 3fef:

Options :

686340175841. 1
686340175842. 2
686340175843. 3
686340175844. 4

Question Number : 62 Question Id : 68634044515 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e derTHedT -

1. 8=

[ ]

. oI UH

e

L]

Options :



686340175845. 1
686340175846. 2
686340175847. 3
686340175848. 4

Question Number : 62 Question Id : 68634044515 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

& gerHETy -

1. 6

| ]

 TTHRUH
3. TRreqm
4. SNy

Options :

686340175845. 1
686340175846. 2
686340175847. 3
686340175848. 4

Question Number : 62 Question Id : 68634044515 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e g -

1.8

| )

 THIO
TRreq
4. SOIfIH

-

L

Options :

686340175845. 1
686340175846. 2
686340175847. 3
686340175848. 4

Question Number : 63 Question Id : 68634044516 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TR &: Ieg: 2
1. TS AP P agR [aUgR=y § Tea:
T el A1l HiUS: HUId Sid 9 e
dfgasafiys fssafess Sy 9 Yes:
AT SRS [eieh G agR (WU Sl Hald 9 s

Options :

686340175849. 1
686340175850. 2
686340175851. 3
686340175852. 4

| )

L

=

Question Number : 63 Question Id : 68634044516 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

mMivad &: Tea: 2

—

TG [ D g U=y | Tea:
 degadl Hia: Hiud: HUld gid H Uea:
 Afgesafis feaaesd I d 9 T

4. TR FrATATS o §agR A NIOMHT Sl Hafd 9 e

[ ]

L]

Options :

686340175849. 1
686340175850. 2
686340175851. 3
686340175852. 4

Question Number : 63 Question Id : 68634044516 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TR &: Weg: 2
1. TS [P P agR [uIUTR=Y ¥ W
 Tagaal i HIUT: HUId gid F e

= iy

. ief fesersafoss mrayd 9 ves:
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Options :

686340175849. 1
686340175850. 2
686340175851. 3
686340175852. 4

Question Number : 64 Question Id : 68634044517 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TEUIIIUHET B GiiHe: TR 2
1. quig
2. Had
3. Wley
4. S
Options :
686340175853. 1
686340175854. 2

686340175855. 3
686340175856. 4

Question Number : 64 Question Id : 68634044517 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
1. guieg
2. Ua¥g
3. Tley
4, F:
Options :
686340175853. 1
686340175854. 2

686340175855. 3
686340175856. 4

Question Number : 64 Question Id : 68634044517 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



eUaIiyed & gRidg: gRefedd: 2

1. Ui
2.Uad
3. Whlew
4. &G

Options :

686340175853. 1

686340175854. 2

686340175855. 3
686340175856. 4

Question Number : 65 Question Id : 68634044518 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Wpler = faerd -
1. 3hH:
2. 3t
3. e afRa:
4. ST
Options :
686340175857. 1
686340175858. 2

686340175859. 3
686340175860. 4

Question Number : 65 Question Id : 68634044518 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
el A faerd -
1. 3hH:
2. ftr:
3. Urafudaiee:
4, ATl

Options :



686340175857. 1
686340175858. 2
686340175859. 3
686340175860. 4

Question Number : 65 Question Id : 68634044518 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Thicl 7 faegd -
1. HAhH:
2. i
3. UaTiafRa:
4, A TeTguTdt

Options :

686340175857. 1
686340175858. 2
686340175859. 3
686340175860. 4

Question Number : 66 Question Id : 68634044519 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HepHISTY Thie: Hedl-d SN Sgd 2

1. €G-l dehedld

[

AT HHEHEN
. gP: @
4. YTNTAf=T

L¥%]

Options :

686340175861. 1
686340175862. 2
686340175863. 3
686340175864. 4

Question Number : 66 Question Id : 68634044519 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



HepHISTY Thle: Heara ST S 2

1. AN dh g

2. TS HHHGI]
3. g9: 3ifd@rd
4. UTSTATH=T

Options :

686340175861. 1
686340175862. 2
686340175863. 3
686340175864. 4

Question Number : 66 Question Id : 68634044519 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HePHISTT Thle: Hedr-d S| Sdd 2

1. AN dh g

2. TS HHHGI]
3. g9: 3ifdard
4. UTSTATH=T

Options :

686340175861. 1
686340175862. 2
686340175863. 3
686340175864. 4

Question Number : 67 Question Id : 68634044520 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



DUTEIH 3Y: Yo [aed | T3 UH AU 3. SIRY BRURYU q 2id Hicdd fagd-
@Y= '3 3fd : o] AMGHdad ol yafd |
SR T gl : DI arar faufe: vafd

Sydai Ul 3T e Uguladedy THH Y ST & -

1.3 g YD I, 1Y T Sid '3 S0 Y= oRe faerd

[

3 Y TEHE I, WS 3fd 30 g gHIEET oAReT I
3.3 gfd 9, § 3fd 9y
4,31 gfd 3, € gfd @y

Options :

686340175865. 1
686340175866. 2
686340175867. 3
686340175868. 4

Question Number : 67 Question Id : 68634044520 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

DUTEIH 3Y: Ua [d9d | T3 UHH SAMHHYTEI0 '3, $IRY PRURFYU T 5id Siedd faerd-
sty o1 f : ] eyt ot aiafd |

SR & Y : S0 gt fauiE: vafd

ST R YL TR 37Y: Femideedy FHIEH IR &0 -

1. '3 'S §gHT I, G4 T 5id 31 S FHIEMT oA faerd

[ ]

(¥ Y YT I, R T gid 31 3= JHIEHT ourReAn Ak

3 gfd T, 9 gfd S

Laa

4.3 gfd o, € 3fd 9@y

Options :

686340175865. 1
686340175866. 2
686340175867. 3
686340175868. 4

Question Number : 67 Question Id : 68634044520 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
BYTEIH 3Y: Ua [9ed | T3 UH S YT=0 '3, RY PRURYU q 2id Hicdd faed-
ST 3 T T ATeaad R0 YA |
SR T Fid : B0 it fqufda: yafd

SUYaID Y 3Tl 31¢: Hadiddbedy THH - 3T [&d -

1.3 '§ SGYD I, Y T 3 3 T o= o faerd

b2

3§ TEHE I, WS 3id 30 g gHIEET oARe IR
3. '3 gfd 9d, 9 3fd gy
4,31 gfd 3, € gfd 9@y

Options :

686340175865. 1
686340175866. 2
686340175867. 3
686340175868. 4

Question Number : 68 Question Id : 68634044521 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

BYUTETH AY: U Gerd | T UPH ATHHYT=U0 '3, 3IRF HRURUU T 5d Biedd faerd-

Sfey=H 137 gf . I $F 419 Hafd |
BRI T 5 : Teflal YU W -]
OB YTl TS 37Y: Yl edy FHti-r ST o -
1. '3 S QY 9, G4 § Sid '3 T e o faed

2

3 S SO I, R T gid 31 SOE JHIEHET oUReAr AT
3. '3 3fd 9, ¥ 3id ey
4.3 gfd 3 & gid 9ay

Options :

686340175869. 1
686340175870. 2
686340175871. 3
686340175872. 4



Question Number : 68 Question Id : 68634044521 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

BYUTETH 3Y: W e | T T STHPYTR=UU '3, 3IRF PR T 3id Biedd faer-

sifbreeeTe o g AT S e e
SR T Ff : Telel YO W g
STeAH YA TS SY: Yadidhedy FH=H 3w &4 -
1. '3 9 S T, T T I 3 S I e e

[ ]

(¥ Y YT I, R T gid 31 3= JHIEHT ourReAn Ak
3. '3 gfd 9, 9 3id sgay
4.3 gfd e & gfd 9y

Options :

686340175869. 1
686340175870. 2
686340175871. 3
686340175872. 4

Question Number : 68 Question Id : 68634044521 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

PUTEIH AY: Ua [Gd | T3 THH AMHHYTE0 3. $IRF SRURUU T 5id Siedd faeld-

Sftrey 3 3fe . Enan s <l vafa
SR T 3 - TS U W srEarg @]

SUYFID Y 3Tl 31Y: adiddbedy THH I 3T [&d -

1.3 g YD I, 1Y T Sid '3 S0 = e faerd

[

3 Y TEHE I, WS 3fd 30 g gHIEET oAReT I
3.3 gfd 9, § 3fd 9y
4,31 gfd 35 & gfd Ty

Options :

686340175869. 1
686340175870. 2
686340175871. 3
686340175872. 4



Question Number : 69 Question Id : 68634044522 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

DYAGIH 3Y: Uaw [9ed | 7 U H MBS '3 3{URF HRURSYU & gid Hicyd fderd
Sty o g : U= 5o URgR: faerd |

SR T 5 : UG T GARIRD! 701 R W S|

UGB YTl TS 37Y: Y edy - ST o -

[

1. '3 'S SgHT I, I T 51 31 S0 FHIEHT ST faerd

2

(S SO I, IR T 5id 31 SOE FHIEHT oUReAT AT
3. '3 3fd U, & gid 3EEy
4.3 gid 3. § 3fd ¥@g

Options :

686340175873. 1

686340175874. 2

686340175875. 3
686340175876. 4

Question Number : 69 Question Id : 68634044522 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
YA 3HY: Yed [9gd | T T Sy '3 3IRY PRURSUU ' 3fd Bicdd fded
sfirmram o sf - S o Ut fe
PR T 30 : EUER W GaRIRS! 0T SR W Sfedramd |
UKD YUEN: ST 374 Hadiddedy S -H I =d -
1.3 g TEYD I, Y T 3 3 S eiEE o faed

b2

3 Y SHD I, WS gid 3 T JHIEHT SReT AR

L¥ 5]

3 gfd 9d, 9 3fd sy
4.3 gfd 30, 9 3fd gy

Options :

686340175873. 1
686340175874. 2
686340175875. 3
686340175876. 4



Question Number : 69 Question Id : 68634044522 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
BUTGIH HY: UG [99d | 77 ThH AUDHYTEU '3 3RY SRUREUU ' 5fd Hieud faerd
SHfUPpYT o BT : Tz S YU faerd |
HRU T 5iW : SAvER W GduRARS! T ISR W Sfeaam|

SUYFID Y 3Tl 31e: Hadiddbedy GHHH 3T [Hd -

1.3 g YD I, 1Y T Sid '3 S U= ore faed

[

30 S ST A, WS 3fd 3 S FHIET oS I
3.3 gfd 9, 9 3id 39y
4.3 gfd 3. 9 3fd gy

Options :

686340175873. 1
686340175874. 2
686340175875. 3
686340175876. 4

Question Number : 70 Question Id : 68634044523 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

DYAGIH 3Y: Uaw [9ed | 7 U H MBS '3 3{URF HRURSYU & gid Hicyd fderd
ST o S : PRl S TR S 9E Hrw fafear

SR T 31 : U T 3w Fan

Sy U=l G 3Y: Uad [hedy FH=HH 3w [ -

[

1. '3 'S SgHT I, I T 51 31 S0 FHIEHT ST faerd

| E)

(¥ Y YT I, R T gid '3 SOE JHIEHT oIReAT AT
3. '3 3fd U, & gid 3EEy
4.3 gid 3. § gfd §@g

Options :

686340175877. 1

686340175878. 2
686340175879. 3



686340175880. 4

Question Number : 70 Question Id : 68634044523 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HYTEIH 3¢ U [99d | T3 U NS YTEU '3 IR SRURSUY T id Sicdd faed
sttty o 59 : prafiigenfa sem oy 3fd ue oa fafearn
HRUT T 31 : e vEn 51 ufd Siuarg
STeAH Y HTADH Si4: Yad [deedy GHHG A Jo¥ o d -
1.3 @ TYYY T, UHY '€ 3d 3 Sy T sgre faed

| )

3 S §GHT I, W T 5 131 ST GHIEMT oRe M
3.3 gfd 9, 9 3id 39y
4.3 i 39, 9 3fd gy

Options :

686340175877. 1
686340175878. 2
686340175879. 3
686340175880. 4

Question Number : 70 Question Id : 68634044523 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

DYTFTH 3HY: Ua [9ed | T UhH MHHYTEI0 '3 IR PRURUU ' 3id Dicd faed
St o §fd : FoArHEeld s R S TS e fafean

SR T 31 : U T 3 wR Farn

FUGFAD YN ST S¢: Had f[dPeuy FHIEH I = -

[

1.'30 'S SgHT IIH, I T 5id 31 S0 FHIEHT T faerd

| E)

(¥ Y YT I, R T gid '3 SE JHIEHT oIReAT AT
3. '3 3fd U, & gid 3EEy
4.3 i 3. § gfd 9a@g

Options :

686340175877. 1
686340175878. 2



686340175879. 3
686340175880. 4

Question Number : 71 Question Id : 68634044524 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

DYTEIH HY: Yo [9ed | T UpH D YR=UT 31 URY HRURSUY T Sid Sictd faerd

Siftepyae 9 3f : T 2 Ueam SRaiSTyem: |
PR T Sfd : TUT. MR Teaxg 7T TR Tia1 MUafae A g IS STHET: |

SUYFID Y 3Tl 31Y: Hadidbedy TH I Sty = -

1.3 '§ SGYD I, Y T 3 3 T o= o faerd

[

3§ TEHE I, WS 3fd 30 g gHIEET oRe I
3. '3 gfd 9d, 9 3fd gy
4,31 gfd 3, € gfd @y

Options :

686340175881. 1
686340175882. 2
686340175883. 3
686340175884. 4

Question Number : 71 Question Id : 68634044524 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

DYAGIH 3Y: Uaw [9ed | 7 U H MBS '3 3{URF HRURSYU & gid Hicyd fderd

Sifiey=H 3 a0 : U (2 Yeag SRaISUYET: |
SR T 5l : TEUT: TRG e T1d! 10l 7iaT Mua i Aaaeg I STLRT: |
STFIH YT TP 3Me: Feaiddedy SHHHY IR T -

1.3 g SgHT I, Y T 3id 31 g gHiEE ogre faerd

| )

3 S SO I, R T gid 31 SOE JHIEHET oUReAr AT
3.'31 3fd 9, & gid 3EaH
4,3 gfd 3/, § 3fd 9@y

Options :
686340175881. 1



686340175882. 2
686340175883. 3
686340175884. 4

Question Number : 71 Question Id : 68634044524 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

DYTEIH HY: Yo [9ed | T UpH D YR=UT 31 URY HRURSUY T Sid Sictd faerd

Sfiedy=y 3 4 : T B Usag SgalSuyEm: |
SR FiA « T TR Teawg Tl Mol a1 MardiTb daHTea STHRTE: |
UYL HIRIe 37U UEaiaeedy FHTH-TH 3uH R -

1.3 ¥ TEYY A, Y '€ S 3 Ty T sgre faed

[ ]

(¥ Y YT I, R T gid 31 3= JHIEHT ourReAn Ak
3. '3 gfd 9, 9 3id sgay
4.3 gfd o, € 3fd 9@y

Options :

686340175881. 1

686340175882. 2

686340175883. 3
686340175884. 4

Question Number : 72 Question Id : 68634044525 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
BUYTETH 3HY: Uew [9gd | T U AMYSHYFE00 '3 SIRY PRURSUU § 3fd Bicdd fderd
ey 3 34 .U g Bd 9y aqss uge quT Amard gia wdsH uefr: e Feigar ||

BRI T i : UHH = Glllc:. TG q=I1 Ud ded@iiadlg, S-dboiddi=i areid TRard |

SUYFID Y 3Tl 31Y: adiddbedy THH I 3T [&d -

1.3 g YD I, 1Y T Sid '3 S0 JH = oRe faed

2.3 & $gHY I, TR 'S 5 '3 SUE FHIEMHT SARSAT 1]
3.3 gfd 9, § 3fd 9y
4,31 gfd 3, € gfd @y

Options :



686340175885. 1
686340175886. 2
686340175887. 3
686340175888. 4

Question Number : 72 Question Id : 68634044525 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

DYAGIH 3Y: Uaw [9ed | 7 U H MBS '3 3{URF HRURSYU & gid Hicyd fderd
Sy 3 50 .U g Bd 91y =g ugd aunl A gfd wdsH! e wrd F=fiar (|
PR T S : UHH = SIfck, ATd- 081 U9 arAaiadg, Saoidkii aredd TRar |
OB YTl TS 37Y: Yl edy - ST o -

1.3 ¥ ggUY A, YA 9 3id '3 g i1 sgre fadd

| )

3 S SO I, R T gid 31 SOE JHIEHET oUReAr AT

Laa

3 gfd T, 9 gfd S
4,3 gfd 3/, § 3fd 9@y

Options :

686340175885. 1

686340175886. 2

686340175887. 3
686340175888. 4

Question Number : 72 Question Id : 68634044525 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
BYTEIH 3Y: Ue [9gd | T3 UHH S YT=0 '3 0RY SRRV T id Biedd faerd
Sty o i U T B =1 Iqw ugeh auT| e gid FdsHT v A RO | |
PR T 5T : UHH = SIfck. ATHd- 781 U9 ara@laag, fHdoiekiii aredd TRard |

SUYaID Y 3Tl 31¢: Hadiddbedy THH - 3T [&d -

1.3 '§ SGVD I, Y T 3 '3 T o= SR fagd

[

3§ TEHE I, WS 3id 30 g gHIEET oARe IR

L]

3 2fd 9d, 9 3fd sy

=

3 gfd 3. & gfd g



Options :

686340175885. 1
686340175886. 2
686340175887. 3
686340175888. 4

Question Number : 73 Question Id : 68634044526 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
DUTEIH HY: Yo fded | T U MDY= '3 HURY HRURUY T Sid Sictd faerd
ey 13 gfd « yd W1faf a2 9|

SR T g« &l Yd IRUNE! 9 YdaH aSTeE: |
SUYaIPYTN: 3T 37: Hemiddedy WHTHIH ST fagd -
1.3 g YD I, 1Y T Sid '3 S0 Y= oRe faerd

| )

3T TEYE I, WS Sl 3 T YHIEE SR A
3.3 gfd 9, § 3fd 9y
4,31 g 3y, § 3fd 9@y

Options :

686340175889. 1
686340175890. 2
686340175891. 3
686340175892. 4

Question Number : 73 Question Id : 68634044526 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



BUYTETH 3HY: Uew [9gd | T U AMYSHYFE00 '3 SIRY PRURSUU § 3fd Bicdd fderd
Sty '3 gfa : yd il e wa:|
PR F Fe : W 2l IRUMET = A TSTaZ:|

Sydai Ul 3 3 Ugulddedy THH Y StRY & -

1.3 g YD I, 1Y T Sid '3 S0 Y= oRe faerd

[

3 Y TEHE I, WS 3fd 30 g gHIEET oAReT I
3.3 gfd 9, § 3fd 9y
4,31 gfd 3, € gfd @y

Options :

686340175889. 1
686340175890. 2
686340175891. 3
686340175892. 4

Question Number : 73 Question Id : 68634044526 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

DYAGIH 3Y: Uaw [9ed | 7 U H MBS '3 3{URF HRURSYU & gid Hicyd fderd
U= '3 gid : 2d H1faf e T

BRI T i : T 3 URUIET T HIAH TSTET: |

Sydade Yyl S 3Y: Uadiadedy Sy 3wy & -

1. '3 'S §gHT I, G4 T 5id 31 S FHIEMT oA faerd

[ ]

(¥ Y YT I, R T gid 31 3= JHIEHT ourReAn Ak
3.'31 3fd I, & gid 3FaH
4.3 gfd o, € 3fd 9@y

Options :

686340175889. 1
686340175890. 2
686340175891. 3
686340175892. 4

Question Number : 74 Question Id : 68634044527 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
ST HTUTEIH e HeTH -
SHUFY 1: TUIGfE ey U uige fadidd|
HTUSYTH 11: TF UGS Wsandi uigs! f[adiad a7 5&: gid I&u=1 gegufasd|

Sugeddl: Bl Selid 3Hy: Hady fde ey Sfeaaay S =

1.1 & 11 3fd SYIgd IdT
2.1 & 11 3fd SYTEIH TH
3.13d PYH Id W 11 3fd Y Fdy
4,131 SYTH 30 W 11 3fd DY Ty
Options :
686340175893. 1
686340175894. 2

686340175895. 3
686340175896. 4

Question Number : 74 Question Id : 68634044527 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HFHGH YT 3HY: YeTH -
SHFUSYAH 1: JUigfg e U quige fadidd |
HFUSYH 11: T3 UGl a1 UG fadidd o go+ gid wesu=d uaruiagd|

Sl AHBYTIT: SATeiid 37¢: Hawy fapedy Sfadand 3w f&gd
1.1& 11 3fd PYTEE TaH

2.1 & 11 §fd SYTETH HTH
3. 130 &Y 9 R 11 3fd oY S8
4,130 PYTH 3G W 11 3fd PYH TdY

Options :

686340175893. 1
686340175894. 2
686340175895. 3
686340175896. 4



Question Number : 74 Question Id : 68634044527 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
ST HTUTEIH e HeTH -
HFUS YA 1: TUafS a1 S quas! faeidd |
HTUHYTH 11: TF UGS Wsandi uigs! f[adidd a7 5&+ gid I&su=1 gegufand|
Suaddl: Bl Selid $Hy: ey ey Sfaaqy I frd

1 & 11 id YD T

—

[ ]

1 & 11 3fd PYTgaH 39TH

120 By 9 W 11 3fd Py 3ay

T

e

1S Sy 1 Ed IR 11 3fd U g

Options :

686340175893. 1
686340175894. 2
686340175895. 3
686340175896. 4

Question Number : 75 Question Id : 68634044528 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HIUDHYTEI 3HY: YT -

SHfUEY= 1 eI S<aaR: 2fd PEFHRY - o[ 0 OIS ORasaReaear-aaaal i |
STUSYAY 11: TSR ST 94 o gid ug e o fded)

el BTN Selid 3y: Wady fdeedy SrEaaay S & -

1.1& 11 fd SYgd I

[ ]

1 & 11 fd SYU-gaY 3TH

LFN]

1 3id Y- 9 W 11 3id HYTH Edy
4.13fd PYTH 39d W 11 3fd BYH Ty

Options :

686340175897. 1
686340175898. 2
686340175899. 3
686340175900. 4



Question Number : 75 Question Id : 68634044528 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

STHBYTZTH 3HY: UGTH -

STYHYAY I: T S<ardR: 5id YAMURY - o€ 9¢) dls e EaRsRiardagal e

ST 11: TEdIS<ATOR: ST 93 o Sid Oa MR ogH faed |

Sudaayl: i yal: el ot Yay AP ey Shadary I o a -
1.1 & 11 3fd Py-gd Ty

| )

1 & 11 Sfd HYTaH HIH

[F5]

13fd ey 9 W 11 3fd PYH 3y
4. 1310 HYTH 39d W 11 3fd HY- 94

Options :

686340175897. 1
686340175898. 2
686340175899. 3
686340175900. 4

Question Number : 75 Question Id : 68634044528 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SHBYTEIH 3 HewiH -

YU I: TSR S HERY - o[ 94 s RaHaRRaraagdl e
TS 11: ISR S 93 o 5fd ue FeRo oz faeq|

SUgeddl: BTN Selid 3He: Wady fddedy SrEadHy S & -

1.1& 11 3fd SYIgd IdT

[ ]

1 & 1T fd SYUgaY 3T

L¥ %]

1 3id Y= 9 W 11 3id Y 38dy
4.13fd PUTH 3Fd R 11 3fd BYH TIH

Options :

686340175897. 1
686340175898. 2
686340175899. 3
686340175900. 4



Question Number : 76 Question Id : 68634044529 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HHBUTEIH Y UeTH -
HUGYAY 1: FAATH W3 SR SO R G 5 1= Yafd|
STYSYAY I1: FaA11H Wee T s ®H 8 2fd el vafd|

Sugaddl: SHfHbYUal: Selid 3He: Hady fde ey SfeaaHy St = d -

—

1 & 11 3fd SYgd I

[

1 & T 3fd HYUTgaH 3FTH

Lag

1A Y- 9, W11 gfd YY1y

=

130 Sy 3TdE, R 11 3 SYH IaH

Options :

686340175901. 1
686340175902. 2
686340175903. 3
686340175904. 4

Question Number : 76 Question Id : 68634044529 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

STHBYTZTH 3HY: UGTH -

SHTUHYAT I: T4 st S S0 RF T 3 SIS 1@k
SHTUSYAT 11: FaA1H Wes T8 S0 R TR 2fd e vafd |
Suaddl: MBIl Selie sy: ey fae ey Sfaaaay I fd -

1 & 11 3fd Pygd Ty

—

[ ]

1 & 11 Sfd PYTgaH 3Edq

Laa

130 Y 9, W11 3id Sy 3aH

e

1S ST $Ed, W 5id HY- 9]

Options :

686340175901. 1
686340175902. 2
686340175903. 3



686340175904. 4

Question Number : 76 Question Id : 68634044529 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HHBUTEIH Y UeTH -
SHfUSHYEH 1. oA Wed S 50 WH H1q i e vafd|
STYSYAY I1: FaA11H Wee T s ®H 8 2fd el vafd|

Sudaadl: s yal: el 3o Yawy AP ey Shydany I & d -

1.1& 11 fd SYgd I

| )

1 & 11 fd SY-TgaH 38dH

Lag

1A Y- 9, W11 gfd YY1y

o

130 Py 3TE, R 11 30 SYH IaH

Options :

686340175901. 1
686340175902. 2
686340175903. 3
686340175904. 4

Question Number : 77 Question Id : 68634044530 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SHHBYTEIH 318 HeTH -

SHTUHUYH I: FRE Sfd iR |

STUHYAY 11: TEIeH T 5 SUSREEH |

Ul HANHYTL: Selleh 21Y: ey famedy Sfaday I fd

1.1& I 3fd SY-gd Ty

[ ]

1 & 11 3fd PYTgaH 39TH

Laa

1 3fd SYH 9@ W 11 3fd Sy SHay

e

1S Sy 1 Ed IR 11 3fd U g

Options :
686340175905. 1
686340175906. 2



686340175907. 3
686340175908. 4

Question Number : 77 Question Id : 68634044530 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
ST HTUTEIH e HeTH -
HTUHYTH I: PRE gha faf_ET |
HTUSYA I1: e T 3 e |

Sugeddl: Bl Selid 3Hy: Hady fde ey Sfeaaay S =

—

1 & 11 3id PYgd 99

[

1 & T 3fd HYUTgaH 3T

L]

131 HYTH T TR 11 3fd Py 39ay

=

1 3fd Sy 38dE W 1 gfd Sy gay

Options :

686340175905. 1
686340175906. 2
686340175907 3
686340175908. 4

Question Number : 77 Question Id : 68634044530 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

STHBYTZTH 3HY: UGTH -

SHTUSYH I: SR Sid ARz |

STUHYA 11: TEreH T 5 SUeRYEH |

SUdeal: AEYTL: D e Heuy APy Ieaaa S fodd
1.1 & 11 Sfd PY-gd Ty

| )

1 & 11 3fd PYTgaH 3EgH

Laa

1 3fd SYH 9@ W 11 3fd Sy SHaq

=y

13 HYT 3Ed IR 11 3fd Y §dg

Options :
686340175905. 1



686340175906. 2
686340175907. 3
686340175908. 4

Question Number : 78 Question Id : 68634044531 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

S YUTEaH ofY: HaTH -

YUY I: TP EaBRvE alaasn a1 Tsaisi ufaafgar: |
HTUSYAY 11: A 7 Yfdas a1 oiel: 7 yarerd

Suaddl: Bl Selid $Hy: ey ey Sfaaqy I frd

1 & 11 5fd SY-gd Y

—

[ ]

1 & 11 Sfd PYTgaH 3Edq

130 SYH 9d B 11 3fd DY SEdq

L

e

1S HYTH SEd IR 11 3fd DU g

Options :

686340175909. 1
686340175910. 2
686340175911. 3
686340175912. 4

Question Number : 78 Question Id : 68634044531 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HHBUTEIH Y UeTH -
HIUS Y 1 TP BRI e dasl dal Wsalsid wiaafga: |
STUHYAY 11: I1E 7 Yaldasn aar sl 9 yarerd

Sudaddl: Bl Selid 3Hy: Hady fde ey Sfeaaay S &

—

1 & 11 3fd SYgd I

[

1 & T 3fd HYUTgaH 3FTH

Lag

13 SYTH I TR 11 5fd Py 3Eaq

=

1 3fd PYH 3T W11 3fd SYTH Taq

Options :



686340175909. 1
686340175910. 2
686340175911. 3
686340175912. 4

Question Number : 78 Question Id : 68634044531 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

STHBYTZTH 3HY: UGTH -

HFUFYH 1: TP BRUIHaldael dal Realsid wiaafges: |
STHEYEH 11: TfE 7 Yafaaar a1 o 9w

Sl AHBYTIT: SATeiid 37¢: Hawy fapedy Sfadand 3w f&gd
1 & 11 3fd Pygd Ty

—

| )

1 & 11 3fd PYgaH 3¥dH

Laa

1 3fd SYH 9@ W 11 3fd ey SHay

=y

1S HYT Ed TR 11 3fd Py
Options :

686340175909. 1

686340175910. 2

686340175911. 3
686340175912. 4

Question Number : 79 Question Id : 68634044532 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
ST HTUTEIH e HeTH -
SifHey=H 1. 9 FRIaifd [ae |
YUY 11: Serd HH Bfad - e, ey, wag |
Sugeddl: Bl Selid 3Hy: Hady fde ey Sfeaaay S =

1 & 11 3id PYgd 99

—

[

1 & T 3fd HYUTgaH 3T

131 HYTH T TR 11 3fd Py 39ay

L]

130 Y 38d W1 gfd Sy gay

=



Options :

686340175913. 1
686340175914. 2
686340175915. 3
686340175916. 4

Question Number : 79 Question Id : 68634044532 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HIUDHYTEI 3HY: YT -
Sifie Y=y 1. 92 FRiaifd fae |

STUHYEY 11: SIWd oY Ffde - Fowiy, ey, ures |

.

Sudayl: iyl el 3o Hay [dd ey Sy 3w

1.1& 11 fd SYgd I
2.1 & 11 3fd SYTgTH S-TH
3.1 30 PUTH T IR 11 3fd YTH 39T
4,131 SYTH 3 W 11 3fd Py Ty

Options :

686340175913. 1

686340175914. 2

686340175915. 3
686340175916. 4

Question Number : 79 Question Id : 68634044532 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



SHTHBYTEIH 3HY: UGTH -
SifHey=H 1. 9 FRIaifd [ae |

STUHYEY 11: SIWd oY Ffde - Fowiy, ey, ures |

.

Sugeddl: Bl Selid 3Hy: Hady fde ey Sfeaaay S =

—

1 & 11 3fd SYgd I

[

1 & T 3fd HYUTgaH 3T

Lag

13 SYTH I TR 11 5fd Py 3Eaq

=

1 3fd Sy 38dE W 1 gfd Sy gay

Options :

686340175913. 1
686340175914. 2
686340175915. 3
686340175916. 4

Question Number : 80 Question Id : 68634044533 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

STHBYTZTH 3HY: UGTH -

HFUSYE 1: &0 9 &0 Sdafad Sl Yaki|

HIUSYH 11: Wsa: TEU FH 060 |

Ul HANHYTL: Selleh 21Y: ey famedy Sfaday I fd

1 & 11 3fd Pygd Ty

—

[ ]

1 & 11 3fd PYTgaH 39TH

Laa

130 Y 9, W11 3id Sy 3aH

e

1S Sy 1 Ed IR 11 3fd U g

Options :

686340175917. 1
686340175918. 2
686340175919. 3
686340175920. 4

Question Number : 80 Question Id : 68634044533 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
SHBYTEIH 3 HewiH -
SHUHYAH 1: d&d T G&01 Jacgfad ARl Hafd|

SHTUSYT 11: Vea: &I G &I |

SHYFHl: SNHYTL: el 3o Yguy faP ey Siadai 3t & d

1.1 & 11 3fd SYIgd IdT
2.1 & 11 3fd SYTgTH 3FTH
3. 130 Y Td, T 11 3id Sy 8T
4,130 YT 30 W 11 3fd PU- Taq

Options :

686340175917. 1

686340175918. 2

686340175919. 3
686340175920. 4

Question Number : 80 Question Id : 68634044533 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SHUBYTGIH 3 Yo -

HfFUSYAY 1: W6l I @& Idcayfdd o yafd|
YT I1: Xs5: T&UH YA 06T |

Sl AHBYTIT: SATeiid 37¢: Hawy fapedy Sfadand 3w f&gd
1.1& 11 3fd PYTEE TaH

2.1 & 11 §fd SYTETH HTH
3. 13 &Y+ 9, W 11 3fd DU S8
4,130 PYTH 3G W 11 3fd PYH TdY

Options :

686340175917. 1
686340175918. 2
686340175919. 3
686340175920. 4



Question Number : 81 Question Id : 68634044534 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T+ HTPIc: THA FiAIS FIY=1 faerd -
A, TP
B. TRpe:
C. Wi
D. TG (a:

34 Uey faety, Sfedany o) & -
1. ASaay
2. B Hhaay
3. C Haay
4. Dhaay

Options :

686340175921. 1
686340175922. 2
686340175923. 3
686340175924. 4

Question Number : 81 Question Id : 68634044534 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3Tt S IS WY ferd -

3. C Ay
4. D Haaq

Options :
686340175921. 1
686340175922. 2



686340175923. 3
686340175924. 4

Question Number : 81 Question Id : 68634044534 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1P 10: T FiA HieEy fded -
A E’I?i?‘l:
B. E‘IE? a:
C. e qa ?1:
D. @ a:

3¢ Yoy fam ey, Sfedany Sox fogd -
1. ADaaq
2. B $dayq
3.C Hhauy
4.D $aaH

Options :

686340175921. 1
686340175922. 2
686340175923. 3
686340175924. 4

Question Number : 82 Question Id : 68634044535 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



3¢ Yy fgeedy, IFaqany S fd -
1. A.BHdaHq
2.B. C.D Haaq
3.C.D$aaq
4.C.D.E $aaq

Options :

686340175925. 1
686340175926. 2
686340175927. 3
686340175928. 4

Question Number : 82 Question Id : 68634044535 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

BIY + BDHR: T iAol &4 yigwfd-
A E Q$ H
B. 6 q% EH
C. 6 FEALE
D. 6 Ia]ﬁ H
E. EHIBR:

3He: gy fab ey, Sfdaay 3w o d -
1. A, B Haay
2.B.C.DHhdaHq
3.C. D Haay

4.C.D.E $aay

Options :

686340175925. 1
686340175926. 2
686340175927. 3



686340175928. 4

Question Number : 82 Question Id : 68634044535 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
B + BDOR: T iAol &4 yigwEfd-

A. BIJOR:
B. 6 q% v
C. SHPR:
D. SIE®R:
E. SHIPR:

e vy faeedy, IRIdanH S fod -
1. A. BhdaH
2.B. C.D Haaq
3.C.D $duq
4.C.D.E $aaq

Options :

686340175925. 1
686340175926. 2
686340175927. 3
686340175928. 4

Question Number : 83 Question Id : 68634044536 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



ST Sl 0 Hafd -
A TqaY
B. U3iHH
C. TS
D. Ty
E. Tiaie

3¢ Yy fgeedy, IFaqany S fd -
1. A.BHdaHq

.B. C Hady

3. A.B.C HaaHq

4. A.B.C.D.E

| )

Options :

686340175929. 1
686340175930. 2
686340175931. 3
686340175932. 4

Question Number : 83 Question Id : 68634044536 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ST 3fd =9 Yafd -
A 9gay
B. UZ/ET
C. I
D. I
E. JHEIe-

3He: Yey faeedy, IfIdany Sk faa -
1. A. BhdaH

.B.C Haayq

3.A.B.C &hdaHq

4. A B.C.D.E

[ )

Options :

686340175929. 1
686340175930. 2
686340175931. 3



686340175932. 4

Question Number : 83 Question Id : 68634044536 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A.Fgaig
B. U
C. US54
D. HWdHTMH

. T

He: geniy fap ey, Sfaard S 94 -
1. A.BHdaHq
2. B. C HaaH
3.A.B.C &daHq
4.A,B,C,D,E
Options :
686340175929. 1
686340175930. 2

686340175931. 3
686340175932. 4

Question Number : 84 Question Id : 68634044537 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



IIarIeTd WsaTd Hafd -
A. fedian
B. qdial
. Tt
D. G3H!
E. 9§l
3 gy fd ey, Sfdaay 3R ford -
1. A. B Pauy
_A.B.C ®auHq
3.A.B.D $qay

4. A.D.E ®daHq

b2

Options :

686340175933. 1
686340175934. 2
686340175935. 3
686340175936. 4

Question Number : 84 Question Id : 68634044537 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I YeaTd Hafd -
A T
il
D. GH
E. WHl
3¢ gy fap ety Ifdary 3w fod -
1. A. B ®auq
_A.B.C®qay
3.A.B.D ®auyg

4. A, D.E Haan

2

Options :

686340175933. 1
686340175934. 2
686340175935. 3



686340175936. 4

Question Number : 84 Question Id : 68634044537 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

IIarIeTd WsaTd Hafd -
A. fgdian
B. qdial
. Tt
D. G3H!
E. gl
3 gy fd ey, Sfdaay 3R ford -
1.A. B&auq
2. A.B.C HauHq
3.A.B.D ®auyg

4. A.D.E ®daHq

Options :

686340175933. 1
686340175934. 2
686340175935. 3
686340175936. 4

Question Number : 85 Question Id : 68634044538 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



AR R Iaar= g g
A, SIS Hid@hTa: |

D. uﬁmﬂaﬁﬂﬁumlmﬁ?ﬂwi%mm
E. YHIYE] Tde& o TaEEiyl R |

3 gy fd ey, Sfdaay 3R ford -
1. A. B Pauy

.B.C.D ®auH

3.C.D.Eday

4.A.B.C.DhduH

b2

Options :

686340175937. 1
686340175938. 2
686340175939. 3
686340175940. 4

Question Number : 85 Question Id : 68634044538 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e R g g g

A USICUE HidH DT |

B. SRIAAYSTA gL SpRe (GRS HTaT: AT amEey: |
C. Yd@3 dd@ﬁ%d-&iufamgcg%mfm

D. HId@ qaHHARTHIaH da g ay |

E. GHMEY T4 14 Uraresayl Uz |

31¢): gy fae ey, Sfaaany IO f=d -
1. A. B ®auq

.B.C.D®4duy

3.C.D.E®day

4. A, B, C.D Daay

2

Options :

686340175937. 1
686340175938. 2
686340175939. 3



686340175940. 4

Question Number : 85 Question Id : 68634044538 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AR R Iaar= g g

A TSI HiashTa: |

B. SN AN S R (AT HIEn: areram: |
C. Yd@d qaAHEadaargaiead |

D. YId®Id qaaHARTHIaH gy |

E. GHMEY T4 14 Uraresayl Uz |

3 gy fd ey, Sfdaay 3R ford -
1.A. B&auq
2.B.C.D ®hduHq
3.C.D.E®day
4.A.B.C.DhduH

Options :

686340175937. 1
686340175938. 2
686340175939. 3
686340175940. 4

Question Number : 86 Question Id : 68634044539 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



3T TrRE gTay: AT

A. BAHAMTYSRUEIRAE G B b |
B. HEI&T bUTarR AT SHa! 7 S|
C. HIEUY - 3=4d |

D. TPHPH @ B IPRUIIRaRS Y |

E. Bfag PaTHae S oG |

3y: gey fam ey, SfEdaqy 3wk o d -
1.A. B, C Shaay
2.B.C.D &hdaHq
3.C.D.E&aay
4.A.D.E $daq

Options :

686340175941. 1
686340175942. 2
686340175943. 3
686340175944. 4

Question Number : 86 Question Id : 68634044539 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3 919 UTad: e
A. HAEHET @R IRA S @H P HH aH |
B. TS b aTa-Rihar gl = 3|
C. YIauyH 919 J=0d |

D. Y HD G PO IUAIRAE D EH |
E. St BaRIHAIGHHDGH |

3He: vy faeedy, SRIqanH S fod -
1.A. B, C ®aaq
2.B. C.D Haaq
3.C.D.E®aayq
4.A,D,E $aaq

Options :

686340175941. 1
686340175942. 2
686340175943. 3



686340175944. 4

Question Number : 86 Question Id : 68634044539 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3T TrRE gTay: AT

A. HAEHHET @R IRA S @ P HH aH |
B. TR [ arar-Rieharn I9g! 7 3if&|
C. YUY A9 344 |

D. P UD G PaddIPIUAIRAE S @Y |
E. S Baimyagddaay |

3y: gey fam ey, SfEdaqy 3wk o d -
1.A. B, C Baaq

.B.C.D $duH

.C.D.E®aayq

4.A.D.E $daq

[ ]

Lad

Options :

686340175941. 1
686340175942. 2
686340175943. 3
686340175944. 4

Question Number : 87 Question Id : 68634044540 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



HETHTSIa= AT -
A. i 1Y SRy
B. §IdUHAMYS=SRU 9 YATGRIUY
& Tt TR T Muiafad daniey: QYT |
D. Balddl dadigadl ORI @ |
E. (PR [dgdUSs: Paod: | fdb waiem | Wusunek:

31¢): gewiy fae ey, Sfaaany go f=d -
1. A.B.D $auH

.B.C.D ®duH

3.A.C.D.E®auy

4.A.B.C.E$aaq

2

Options :

686340175945. 1
686340175946. 2
686340175947. 3
686340175948. 4

Question Number : 87 Question Id : 68634044540 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HETHSdg AT -
A. Al a1eid R
B. YTE=IPRU F FATGRIYY
C. T TR i TMiafer daHTed: HTYIaT: |
D. Bl gadiedl SR Urea: |
E. PR [Gqaluc: Hdog: | & Wie | TRagun:
3 gy fd ey, Sfdaay 3R e d -
1. A. B, D Hac]
.B.C.D ®duHq
A, C.D.E Haaq

4.A.B.C.E&aaq

b2

L¥ 5]

Options :

686340175945. 1
686340175946. 2
686340175947. 3



686340175948. 4

Question Number : 87 Question Id : 68634044540 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TEIYTS g AT -
A. i T1e ey
B. JIA9HAEYE=G o UAERIUY
& Tt TR T Muiafad daniey: QYT |

D. Balddl dadigadl ORI ela@: |
E. PR [AgaMes: P | & warem | w[xugomek:

31¢): gewiy fae ey, Sfaaany go f=d -
1. A, B.D ®haaH

.B.C.D ®duH

3.A.C.D.E ®daq

4.A.B.C.E$aaq

| )

Options :

686340175945. 1
686340175946. 2
686340175947. 3
686340175948. 4

Question Number : 88 Question Id : 68634044541 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

oG Y107 HI I hH gawITyd -

A. SR
B. SgIUT:
C. SRl
D. 5eg
E. STgIfur

3 gy fd ey, Sfdaay 3R e d -

1.,AB CIDLNE

2.B.C.D.AE

3.JA.B.C.E.D

4. AB.ECD



Options :

686340175949. 1
686340175950. 2
686340175951. 3
686340175952. 4

Question Number : 88 Question Id : 68634044541 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

egEYI0T FHfd hH oga¥ITayd -
A. SO
B. SIgIUT:
C. STelf:
D. 56l
E. SRl

31¢): gewiy fae ey, Sfaaany go f=d -

1.LABCDE

| ]

B, C.D.AE
3JABCED
4. A B.E.C.D

Options :

686340175949. 1
686340175950. 2
686340175951. 3
686340175952. 4

Question Number : 88 Question Id : 68634044541 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A, STEION
B. SglUk:
C. Self:
D. §ely

E. STgIfor
31¢): wey faeedy, IfrddnH S fod -
1.LABC.DE
2.B.C.DAE
3.3ABCED

4. A B.E.C.D

Options :

686340175949. 1
686340175950. 2
686340175951. 3
686340175952. 4

Question Number : 89 Question Id : 68634044542 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

[t e . ¥

eq & UI0T FHIdIdeHHH SaawTIad -

A. gt
B. gfaaH

D. gt
E. g4y
31¢): gey fapedy, Ifaaany 9ol f=d -
1.AB, C.DE
2Z.C.IDLEBA
IDACERB
4. E.B,C,D.A
Options :
686340175953. 1
686340175954 2

686340175955. 3
686340175956. 4



Question Number : 89 Question Id : 68634044542 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=, o h

Yeg & TN A deHH H SaaeTIad -

A. gt
B. gfeam

D. gt
E. gy

34 Uey faety, Sfedany ok & -

1.LABCIDE

| ]

E B BB A
3IDALCERB
4 B.B.C, DA

Options :

686340175953 1
686340175954. 2
686340175955. 3
686340175956. 4

Question Number : 89 Question Id : 68634044542 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=, o h

oG UTUN Y daHsh H SdaeiTIad -

A. gt
B. gftram

D. e
E. oy

3¢ ey fapedy, Iferdar ST e -

1.AB CINE

| ]

e B BB A
3.D,A.C.E.B
4 B.B.C, DA

Options :



686340175953. 1
686340175954. 2
686340175955. 3
686340175956. 4

Question Number : 90 Question Id : 68634044543 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YT SO Uisharai YA Sfd: sl faed -

A AT dlu:
B. 5% OUITY

C. gQUT: Uiy are:
D. ¥ SRAH:

E. TR: gfyey: Ifedr

3He: vaay faedy, IRITIHH S fod -

1.C.A.D.B.E
2.A,B.C.D.E
3.E.B.D.A.C
4.B.A.D,E.C

Options :

686340175957. 1

686340175958. 2

686340175959. 3
686340175960. 4

Question Number : 90 Question Id : 68634044543 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



YT SO Uish ATl AT S fa: ol fderd -

A, FONT-09 ol0:
B. 3o OUI

C. UT: Yiayell are:
D. WHS<RAH:

E. IR gfae: dfgan

e vy faeedy, IRIdanH S fod -
1.C.A,D.B.E
2,4, B, 6D, B
3.E.B.D.A.C
4.B.A.D.E.C

Options :

686340175957. 1
686340175958. 2
686340175959. 3
686340175960. 4

Question Number : 90 Question Id : 68634044543 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
YT SO Uisharail AT S fa: al fderd -

A AT dlu:
B. S QUMY

C. gul: YiauyT are:
D. ¥ SRAH:

E. TR: gfyey: Ifedr

3Hy: Yoy fawey, Ifeaany o 4 -

1. CCAD.BE

2.A.B.CDE
3B B ALL
4.B.A.D.E.C

Options :

686340175957. 1
686340175958. 2
686340175959. 3
686340175960. 4



Question Number : 91 Question Id : 68634044544 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
RIS IR SRS gYifed HH SIaeTd -

A, TUH
B. AUEFH
C. ®H

D. &l

E. SHIEHY

31¢f: wey faeedy, IfydanH S fod -

1.BC.AEB

| )

o DLAE. B
3.A. B D E
4.B.C.D.A.E

Options :

686340175961. 1
686340175962. 2
686340175963. 3
686340175964. 4

Question Number : 91 Question Id : 68634044544 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
RISTIo IR SRS gYifed HH e -

A, TUH
B. 3
C.HH

D. &l

E. YHIEAH

3¢ gy fd ey, Sfdaay 3wk fod -

1.BC.AEB

[

I ACE. B
3.A. B D E
4. B.C.D.A.E

Options :



686340175961. 1
686340175962. 2
686340175963. 3
686340175964. 4

Question Number : 91 Question Id : 68634044544 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
RIS ET9R SRSV TUIRId B8 SIaeITaad -
A. RO
B. 3{UIEH
c. o
D. &l
E. g8

31¢f: wey faeedy, IfydanH S fod -

1.BC.AEB

| )

o DLAE. B
3.A. B D E
4.B.C.D.A.E

Options :

686340175961. 1
686340175962. 2
686340175963. 3
686340175964. 4

Question Number : 92 Question Id : 68634044545 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TeTHS aifde Tl &: HH:?

A T gddiew

B. R fAgm:

c. 34 o sfg Saurse:

D. ARAYG P FIRIS Weu&ided dagsd]

31e): Wy faspedy, Siadaay 3w fd -

1.LA,B,.C,D

2D.C.B.A
3.C.B.A.D
4 B.C.D. A

Options :

686340175965. 1
686340175966. 2
686340175967. 3
686340175968. 4

Question Number : 92 Question Id : 68634044545 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g1y aifde i &: a:?

A T gddiew

B. R Agm:

c. 34 o sfa Taursy:

D. ARAYGD FIRIS HeT&Rided dagsd-]

3{e: Uey faety, Sfdany o) & d -

1.AB.C.D

2.D.C.B.A
3. CCB.A.D
4 B.C.D. A

Options :

686340175965. 1
686340175966. 2
686340175967. 3
686340175968. 4



Question Number : 92 Question Id : 68634044545 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g1y aifde i &: a:?

A T gddiad

B. &R a9

C. 311 o sfa Saursee:

D. YRAYdd TANIS WEaETqed dave

31¢f: wey faedy, IfydanH S fod -

1LLAB.ED

| )

.D,C.B.A
3. CCB.A.D
4. B.C.D. A

Options :

686340175965. 1
686340175966. 2
686340175967. 3
686340175968. 4

Question Number : 93 Question Id : 68634044546 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
RATYHSSNIITH STl Sl [qeueiHuiasdar gd HH orawiTaad -

A HOIT:

B. HIg=iy
C. TavwiT:
D. faRiferr

31¢f: wey faedy, IfydanH S fod -

1.LAB.C,D

| )

.D,.B.C.A
3.B.C.A.D
4. A.C.B.D

Options :

686340175969. 1
686340175970. 2
686340175971. 3
686340175972. 4



Question Number : 93 Question Id : 68634044546 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

RATYHSSNTATH SETai STl [ dar wfd 8 orawTaad -

A HOIT:

B. HTg=H
c. favanT:
D. TaRIfern

3¢ ggay fdhedy, Sieaans 3o fd -

1.LA,B,.C,D

[ ]

.D,B.C.A
3.B.C.A.D
4 A C.B.D

Options :

686340175969. 1
686340175970. 2
686340175971. 3
686340175972. 4

Question Number : 93 Question Id : 68634044546 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

RATYHESSNIATH Sl Sl [dRurHuiaesda ik oY orauad -

A HOIT:

B. HTg=H
c. favanT:
D. faRifern

3{e: Uey faety, Sfdany o) & d -

1.AB.C.D

[ ]

.D,B.C.A
3B.C.AD
4 A C.B.D
Options :

686340175969. 1
686340175970. 2



686340175971. 3
686340175972. 4

Question Number : 94 Question Id : 68634044547 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
e I&0 WK Ui HISDIRUT &: h: §1ad 2

A YA
B. S
C. dlg et

D. G3:
E. fasrur:

3 gy fd ey, Sfdaay 3R e d -

1LAB CDE

[ ]

SR LGB A
3.D,E.B.C.A
4 A CBDE

Options :

686340175973. 1
686340175974. 2
686340175975. 3
686340175976. 4

Question Number : 94 Question Id : 68634044547 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



NGO TSR U MR &: ohH: Siad 2

A grEl
B. PP
C. dlgfet:
D. GX:

E. fquur:

3¢ gy fap ey, Ifdady 3R fod -

1.A,B.C,D.E
2.E,D,C,B,A
3.D.E.B.C.A
4.A,C,B,D,E

Options :

686340175973. 1

686340175974. 2

686340175975. 3
686340175976. 4

Question Number : 94 Question Id : 68634044547 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Qe eI&{0] YT UgHi HIIBRU &: H: Sad 2

A TTHI
B. %<
C. TSt
D. G

E. faumor:

3 gy fah ey, Sfdaay IR & -

1.A,B.C.D.E
2.E,D.C.B,A
3.D,E.B.C.A
4.A,C,B.D,E

Options :

686340175973. 1

686340175974. 2

686340175975. 3
686340175976. 4



Question Number : 95 Question Id : 68634044548 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HETHS oIR8 YAl &: hH: 2

A FE
B. &l

C. Y
D. HI=<e:
E. 3T

34 Uey faety, Sfedany ok & -

1LABDEC

[ ]

B A e D
3.B.C.D.AE
4. A,B,C,D.E

Options :

686340175977. 1
686340175978. 2
686340175979. 3
686340175980. 4

Question Number : 95 Question Id : 68634044548 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TETHIS Yo YOIl &: hH: 2

A SE
B. &l

C. Y
D. 3T=<g:
E. HTTH:

3¢ ey fapedy, Iferdar ST e -

1ABLILE C

[ ]

B AR E.D
3.B.C.D.A.E
4. A,B,C,D.E

Options :



686340175977. 1
686340175978. 2
686340175979. 3
686340175980. 4

Question Number : 95 Question Id : 68634044548 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HETHS oIR8 YAl &: hH: 2

A FE
B. &l

C. Y
D. HI=<e:
E. 3T

3Y: Uaay fgh ey, Idaay o fod -

1LABDEC

2B A B C.D
3.B.C.D.AE
4. A,B,C,D.E

Options :

686340175977. 1
686340175978. 2
686340175979. 3
686340175980. 4

Question Number : 96 Question Id : 68634044549 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



g i fediadr g=41 98 degd -

T 1 et 1
A [3HTH gHESTR L [Hos:
B. [YUs gargamn fale: | 1 jeiver:
C. |37fEd: BR: il CECE
D. |3{cUT&RwH T | IV, [y

31¢f: wey fasedy, IfIdanH S ford -

1. A-I. B-II. C-III. D-IV
2. A-IL B-I1I. C-1. D-IV
3. A-IIL. B-1. C-II. D-IV
4. A-IV, B-1, C-1II, D-III

Options :

686340175981. 1
686340175982. 2
686340175983. 3
686340175984. 4

Question Number : 96 Question Id : 68634044549 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YU Y= fgdigan g=a1 ¥g Hayd -

T 1 Tt 10
A [siFg Foaetiiof L [Hos:
B. [[¥g TarREm f[9iS: | 11 [siTeR:
C. [3ii8d: PR: Nl CECE
D. |3{cTER@H HaTE 9 IV, [aRyme

3 gy fas ey, Idaay o fod -

1. A-I. B-II. C-III. D-IV
2. A-IL, B-III, C-1. D-IV
3. A-III. B-1. C-II. D-IV
4, A-IV, B-1. C-II. D-III

Options :

686340175981. 1

686340175982. 2

686340175983. 3
686340175984. 4



Question Number : 96 Question Id : 68634044549 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

guTi i fgdigdr g=41 98 Hegd -
T I Tt 1T
A |3Hgd FoEeio 1 [HTs:

g ggrygA i | I errfw
HIYE: DR: 111 [eaq
STEIERH 3Tt 9] V. [aRHTET

3¢ gey g ey, Sfedany 3w o d -

1. A-I. B-II. C-II1, D-IV

o|o]w

2. AL B-II1L, C-1. D-IV
3. A-IIL, B-1, C-II. D-IV
4. A-IV. B-1, C-II. D-III

Options :

686340175981. 1
686340175982. 2
686340175983. 3
686340175984. 4

Question Number : 97 Question Id : 68634044550 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

guTi i fgdigdr g=41 98 Hegd -
T 1 T 1

A [aFiEn: I [y

B. [dldd: 1. [y

C. [Purs: 111 [arae:

D. [dgia1 V. [fur:

3 gy fad ey, Sfdaay 3R o d -
1. A-L B-IL. C-IIL. D-IV
2. A-TI, B-IV, C-III, D-I
3. A-II, B-TII, C-IV, D-I
4. A-TIT, B-1, C-II, D-IV
Options :

686340175985. 1
686340175986. 2



686340175987. 3
686340175988. 4

Question Number : 97 Question Id : 68634044550 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

guTi i fgdigdr g=41 98 Hegd -
T 1 T 1
A [aFiEn: I [y
B. [dldd: 1. [y
C. [pwrs: 111 [armrfe:
D. [dgia1 V. [fur:

3 gy fad ey, Sfdaay 3R o d -
1. A-L B-IL. C-IIL. D-IV
2. A-TI, B-IV, C-III, D-I
3. A-II, B-TII, C-IV, D-I
4. A-TIT, B-1, C-II, D-IV
Options :
686340175985. 1
686340175986. 2

686340175987. 3
686340175988. 4

Question Number : 97 Question Id : 68634044550 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g i fediadr g=41 98 degd -
T 1 T 1
A [arfiEr I [seaq
B. [UG@: I [5¥%dH
C. [P 111 [armfe:
D. [d&idl IV, [fIor:

31¢): gey fae ey, Sfaaany Io f=d -
1. AL B-IL C-IIL, D-IV
2. A-IL, B-IV, C-III, D-I
3. A-IL, B-IIL, C-IV. D-I

4. A-III, B-1, C-1I. D-IV



Options :

686340175985. 1
686340175986. 2
686340175987. 3
686340175988. 4

Question Number : 98 Question Id : 68634044551 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
g i fediadr g=41 98 degd -
GGl ¥ I

IREZEN L
EECH] 11 ozt
e 111 [fedtan
. [ Hvaide 9| 1v. [gdian

31¢): gey fae ey, Sfaaany Io f=d -

1. A-I. B-II. C-II1. D-IV

olow]>

| ]

A-IL B-IV, C-1, D-III
3. A-IIL, B-IV. C-I. D-II
4. A-IV, B-1, C-1II, D-III

Options :

686340175989. 1
686340175990. 2
686340175991. 3
686340175992. 4

Question Number : 98 Question Id : 68634044551 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



g i fediadr g=41 98 degd -

T 1 Tt 11
A [Fer I [agdt
B. [amat 1 [t
C. [ared ] ERIE
D. [cHscily HUgH vl =] IV. [qeitar

31¢): gey fae ey, Sfaaany Io f=d -
1. AL B-IL C-IIL, D-IV
2. A-IL, B-IV, C-I, D-III
3. A-IIL B-IV, C-1. D-II
4. A-IV. B-I, C-II, D-III

Options :

686340175989. 1
686340175990. 2
686340175991. 3
686340175992. 4

Question Number : 98 Question Id : 68634044551 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YU} G fgdigar g=a1 98 Hagd -
a1 T 11
A [FeEr L [ggdt
B. |31ga@T 1L [oert
C. [ 11 [fgdtan
D. [cgscid UGl 9| IV, [

3% Uy fasedy, IfyddnH S ford -

1. A-1 B-IL C-IIL, DIV
2. A-IL B-IV, C-1. D-III
3. A-IIL B-IV, C-1, D-II
4. A-IV. B-I. C-I1. D-III

Options :

686340175989 1

686340175990. 2

686340175991. 3
686340175992. 4



Question Number : 99 Question Id : 68634044552 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g Y= fgdigar g=a1 9g fayd -

T I T I
A 3= 1 [gsemEnE
B. [adt il ElGEIFCARLIE]
C. [ gife: il SERIEICES)
D. [&l IV, [qiEErE

3¢ Uey faeety, Sfedany ok o d -
1. A-I, B-IL C-III, D-IV
2. A-IIL, B-II, C-IV, D-I
3. A-II, B-III, C-IV, D-I
4. A-1, B-IV, C-II, D-III

Options :

686340175993. 1
686340175994. 2
686340175995. 3
686340175996. 4

Question Number : 99 Question Id : 68634044552 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

guTi i fgdigdr g=41 98 Hegd -
T 1 T 1

A 3= 1 [gEemEE

B. [T 1. [mfquiceraE

c [gTon aife: il SERIEICES)

D. [gl V. [qfmmomes

3 gy fad ey, Sfdaay 3R o d -
1. A-I. B-IL C-III, D-IV
2. A-TIL, B-II, C-TV, D-I
3. A-II, B-III, C-IV, D-I
4. A-1, B-IV, C-II, D-1I
Options :

686340175993. 1
686340175994. 2



686340175995. 3
686340175996. 4

Question Number : 99 Question Id : 68634044552 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

guTi i fgdigdr g=41 98 Hegd -
T 1 T 1

A Q= 1 [gEemEE

B. [T 1. [miquigerdan

C. [grom dife: 111 [ergamee

D. [&l V. [qfmmomes

3 gy fad ey, Sfdaay 3R o d -
1. A-L B-IL. C-IIL. D-IV
2. A-TIL, B-II, C-TV, D-I
3. A-II, B-TII, C-IV, D-I
4. A-1, B-IV, C-I1, D-II
Options :
686340175993. 1
686340175994. 2

686340175995. 3
686340175996. 4

Question Number : 100 Question Id : 68634044553 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g i fediadr g=41 98 degd -
T 1 T 1
A [®Y qANE Yiad: RIS &0l daad| 1 [diad:
B. [ U: Wsc FH YH HRIRGIIR 11 [ghogaaran 3ueEn:
C. |37 fpma guiHEUE: 11 [ Frsarlama=
D[4 URITd [8a: Tealsy: Trawigld V. [iH o 3fa TauisyE:

31¢): gey fae ey, Sfaaany Io f=d -
1. A-IIL, B-IV. C-II. D-I
2. A1, B-II, C-III, D-IV
3. A-IV, B-IIL. C-II, D-I

4. A-III, B-IV. C-I, D-II



Options :

686340175997. 1
686340175998. 2
686340175999. 3
686340176000. 4

Question Number : 100 Question Id : 68634044553 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g i fediadr g=41 98 degd -
T 1 T 1
A [®Y qANE Yiad: RIS &0l daad| 1 [diad:
B. [ U: Wsc FH YH HRIRGIIR 11 [ghogaaran 3ueEn:
C. |37 fpma guiHEUE: il BEREA
D[4 URITd [8a: Tealsy: Trawigld V. [iH o 3fa TauisyE:

31¢): gey fae ey, Sfaaany Io f=d -

1. A-IIL, B-IV. C-II. D-1

| o

A-L B-II, C-III. D-IV
3. A-IV. B-IIL. C-II. D-I
4. A-III, B-IV. C-I, D-II

Options :

686340175997. 1
686340175998. 2
686340175999. 3
686340176000. 4

Question Number : 100 Question Id : 68634044553 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



g i fediadr g=41 98 degd -

g 1 il
A B qARE Yiad: RIS a0l ugad] 1 [didd:
B [[& UF: Teasd I YH HRRaoan 11 [ghHaE JUG:
C. |37 fpma guiHEUE: 111 [&s Treardama=
D. [ YA310d [Ua: Teaisy: grarigld 1v. [fH o 3fg squrses:
31¢f: wey fasedy, IfIdanH S ford -

1. A-III, B-IV, C-II. D-I

2. A-L, B-II, C-II1, D-IV

3. A-IV, B-III, C-I1, D-I

4. A-IIL, B-IV, C-1, D-II

Options :

686340175997. 1
686340175998. 2
686340175999. 3
686340176000. 4




